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1) a) i) & b8l 8ot
©obnm ¢Bom pe medn wonfombos b8 80 B0 cleang, B
LIl encs OB Cedbe cElreos ebnd ng B0 O nBO B ece St it
. 8 onon SOpEomnbed deed.
il) moon g@m Ozdsn §
Ax(s) + 2By(g) ==>2ABy(g); AH’=(-)
2 i 2
cEeDn B0 B e 80 oédBu & 0108w GCIbOs 4y cdmbde 4f ny
OBOO PG O BB oo gherten gBBwe® 8g @0 on @n B eeds;
0O B¢, eb.
BOmo 78 @
D@ PHE 30010 BedBBeci®Be gud 2 : 2 B e c(OBs ened’ Bang
ACL1@= .
Do gheadras O X;Y4(g) = 2XY2(g); AH® = (+)
claoibe 2800 B e D0 udRfc @ D198t GcdbPn gnd cEasids gf s
OBOD oS O Bexn oo ghewden gBFD Beds Ben 9g§fnud ASD Beebd.
Bon cdasbed 2 &80 BoOno 08 ng 80 B 60Cct Gcibde gxnd Bons
40mS O BOD oFcT Do B BHC 6D ¢ BC OB gy e HFPwWD gooded
0B 8¢ @b.
1981
2) 2S0;(g) + O2(g) ===2S01(g)
K = __Pso® —_[s0s1*
P Psozz .Poy [502]2 .[02]
S0;, SO;, 0; v g Badc® cBybia wuga® W8 w8 comcdome »S PV = oRT
ewie®ss,
P=2RT
P=[ ]JRT

. Pso,= [SO3(2)RT Pso,=[SOxg)IRT  Po,=[O2(g)]RT

[SO3]? [RT)?

- Kp = (50,2 [RTI? x [0](RT]
—Kc

. Kg=KeRT _

l z
&® Cd KP—xzx yatm
Qé 8Om0 x+y+Zatm.

T —

RT

x+y+z

oo OO OB 80 BOme —— atm
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Chemistry Essay

1983
3) a) aA(g) +bB(g)=— cC(g) + dD(g) o> yBBw® scng
Ke=lC@I° @I _ Pc@® Pp(@*
[A@P [B@]® ' Pal@? Pe(@]P
A,B,C,D(g) 4 ® 08bes 0E® (08 8 comome @8 PV = nRT exle®s,
PV : nRT A(g) oo Py =[A(g)IRT
P= - RT B(g) wems Py =[B(g)]RT
. P=[ ]RT C(g)eem  Pc=[C(g)]RT
D(g)esqo  Pp= [D(g)U]lRT
_ [C(®)RT]€ [d(g)RT]
Ke & eakoost Ke = | @RI [BERT
_[[€@)]° [d@]%|RT)¢ (RT)¢

[A(g)]? [B(8)]P)(RT)? (RT)P
= KC- (RT)C"'d-(II"'b)
= @IJM
b) i) Pag,=0.2x30atm=6atm  Pyg, = 0.6 x 30 atm = 18 atm
xABz = XBZ e PBz =6 atm

PABsg)- PB2g) _ 16atmx6atm

) Kp Passg o 2 atm
0.4 X50 atm x0.4 x50 atm
1it) S00 K & Kp = 0.2 x50 atm =40 atm

S cdesbo 8 we 80 Ky o8 & . . B0 9f8wd acd 8gB . @
D10Bul el gmd c¥easSO s g 6 OFNOD gBEwIO AR O Hew
588w0 mn gdheniem .

end

cuemsdo 8 me 80 gBdchE 08¢ wow &8 B g, .. cdesdHs 518 860 &
8 9108ul YebOw ¢md cHesdn gf) 96 OFOD AT O B 9T 5BFw®
D gbeade .

iv) Som cdasded 2 8Ome 18 ne 80 ofdBe 8 51080l §edt®e ¢nd BOmw
360 o B00 AT O B DR BFC MO ¢hmC oo g Bt BFPwO
qiosed add 8¢ ¢d.

1985
4) 2NOBr(g) == 2NO(g) + Brx(g)
110g
oS S 110 g mol—1
0nBn 8580 l
558 ™0 greacs mol o mol
a
©1e¢» g®reno mol 5
1§
OB 986 ©gc 00l-a a =
[+ 4 o
©0:p8n 50 986 §¢ g mol =00l -a + a+35*: (0.01 +§)
=ontn 8O § =881 = 1dm’=1x10"m
=onn 50 §o 8oOme = 0.41 x 10° Pa
©Onplo 50 cueasida = 27°C=300K

Bt wipc® condomas mebo PV = nRI oude®3,
0.41 x 102 x 10° Nm™ x 1 x 10~ m’ = (0.01 +5) %8314 Nm K™ mol™ x 300 K
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Chemistry Essay

1983 .
3) a) aA(g) + bB(g)=— cC(g) + dD(g) o gB8w® eng.
Ke=LC@I @I | _ Pcl@)© Po@)*
[A@P B ™ Pa@? Pa@)]®
A,B,C,D(g) 4 ® o8bies w1t301® ¢m08 8 comdema =6 PV = nRT ewuie®sl,
PV =nRT A(@ e Py =[A(g)]RT
P=2RT B(g)escwmn  Pp = [B(g)]RT
~P=[ ]RT C(g)wgmo  Pc=[C(g)]RT
D(g)esgeon” Pp= [D(g)[]lRT
— IC(g)RT]® [d(g)RT]
K 8 =
PR oot K S (A @RTI B@RTP

_[[C®)° [d(@19kRrT)® (RT)4

@2 [B()]B)(RT)a (RT)D

=KC- (RT)c+d-(u+b)

b) i) Pag, =0.2 x 30 atm = 6 atm Ppg, = 0.6 x 30 atm = 18 atm
XABZ = XBZ Sess PB: =6 atm

l3*“%(& PBz(EL _ l6atm x 6 atm

ii) Kp= =

) E pAB,.,(g) 18 atm Zam
0.4 X50 atm X0.4 X50 atm
o) SO0 Hp 0.2 x50 atm =40 am

S ceesde OB me 80 Ky, &8 B qun. .. 988000 ¢26wd add 8¢d o, 8
0108l Geobdn gnd chesdc g O B0 BB DS O Bew
g8 8w@D ms gherien «.

ewd
cBesO0 018 ne 50 u89c0c 08¢ v 8 8 g, .. cdesbn HE 860 g
& 0108sb Bcbon gnPb cdasds g S OSeD RS O B 9T8 HBGwd
e ghewdsn .

iv) Bon cdeadded § 8omnn O18 neg 80 oddBs 8 0108u0H geab®w a3® 80m

g0HC ®BI0D ACT O MDD D@ OFYE @10 ¢RWT OB Gy Bew HHFwd
gaoedend 9O 8¢ 8.

1985
4) 2ZNOBr(g) = 2NO(g) + Br,(g)
1.10g
el OHe 110 g mol-1
©OpGn 800 1-
5B 6 g&rescs mol o mol
a
ere¢s &5 mol o 2
00nBn 988 ®c 00l-a a -E
a

It

©®9pB8n 5O 9886 §é Bigy mol
2OnEn 5O §O =68 1dm’=1x10"m’

©enBm 5o g¢ Bome 0.41 x 10° Pa

o®npBm DO cdea=do = 27°C=300K

obplies 01di® comcdomno B0 PV =nRT ewieo,

0.41 x 10> x 10° Nm™2 x 1 x 10 m* = (0.01 +§) x 8.314 Nm K™ mol™ x 300 K

a
001-0 +a+ 2=(0.01+>)
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QnCedLe“E,
- mol = 0.01 + =

8.314 x3

0.01 +§ =0.016 le

2 =(.006 mol

2
o =0.012 mol
a > 0.0]1 Bo emio.
Zp
0.01-a aP 3
p = =— T 001+ 2
NOBr = 5 01+ 2 Prno=g01a 2 Pbr 0.01+3
PNno?Pgr
Kp=—7—2
NOB!‘Z
a
_ ( oP zx 7P / (0.01— aP)z
0.01+ % 0.01+ ‘E‘ 0.01+ aP
13
SO P

= = 88z Kp cebo o,
(0.01+ 2)(0.01+ 0y

1987
5) a) 45besd &Ro8
N204(g) == 2NOy(g); AH°=(-)
Bon BOmed € uddfed cdeantds o8 mg 50 T g8 @0 OO . O § amd we
&denden gﬁ@cﬁ;&) 8¢ ©6 oo g NB eoeed 0D B¢ @d. . Ao Sww
(1!
Bon BOmed § uqoBed cdemnidn o)) me 80 8. O1. § and oddBed cdwmio cnﬁ
23 OO0 YT O» B moseacm 988wd BeBu g B GBS 9§60 o
e @b, . RS Lo 8 eb. )
Buen cdastded 8 8Oma 98 me 8o oddBs BOmas a8ms o R0 & o §
DAST O Ben BOmw g8 S 0 RO0 D19@= OPE 0810 f »S o» go AP
gB8on groued Acd 8¢ od. & Bew ¢Qo; O @B @b,
25002
Bon ceemdod § 80mo 08 me 80 osem 2805 B (028 Hudo 33+
gowsiz Oz :B5 (RO Sune NB o8, ging Bome 0B 86 mEwy 80 & &
Guomi®m 8 I BOmn ahms :1B00 @fE wodmd ¢f m6 0 BO0 gioded 99 &
Bean RCL S 38 0. NB g ¢fST s ecomE B8 R0 srow 200 o 60 5
Hos cdemded § BOmns ¢f me 80 @, O 8§ 42D séoBed Bomo 88 B9
D130 OHC 301D MB S @m 9 83 §R01 11 OB .
b) ABI(g) + ABy(g) AzBs3(g)
| : 1
406®e0z> Z@aencs mol 1 1
0:08m 800 uBFw ™o AB y®remns
X 0 gBEe »S §&Iess mol l X %
sOpBm BP0 e10¢ y&rens mol 2
0nBn g03Ned § 986 y®ienn mol 1 -x 1 —x %
20npBs g0c3Ged §b Dig mol 1-x + 1 4y =D
es®nBm B8O, @8c wnn 11( 1—x ES
2-x 2-x 2-X
oOnBm gbedcied §d 8Om0
P m@ qaf)o@ 8925363 1 l_‘lp 1-x X P
2-x = p—
\ et ”5“1
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Chemistry Essay

XP

K= —AzB3®  _ _ 3-x
TP P TXp1°%
AB3(g)-FAB(g) e P.z_xP
— x(2-x)
(1-x)(1-x)P
75
x=—x1
100
=075 (257 =3 @880 @83 752 yRSw m38)
P =35 atm
0. =0.
K 75 (2-0.75)

" (1-0.75)(1-0.75) x § atm
_75x125 1

~25x25 * satm
datm

[
O
o0
O

CaCOs(s) esomatdm CaCOs(aq) w00 ©fm ©@pfmmdews’ wdSm 80 CaCOi(s) Lmnp
ng 50 68 qog ¢, 90 ofin sOnBomded o 8. .. C0Z™ womdm aq S8w gdmed

am. 00t e@8xs3 C0Z™ omdms wien 40800 on B wdnBommdensy w8, ..
eucsmed 8808 @GN .

CaCOs(s) == CaCO;(aq) == Ca’*(aq) + COZ"
. CaCOs3(s) === CaCOs(aq) =— Ca®*(aq) + COZ"

b) i) ecDid ofBex pe & duSBD LOPEmMDens BOSD olddBun O s
gesan ([ ], P, T 018) @800 cdndd me 80 8o 280 o oce oddBa wmed 8
NO® OPEmOLd dead.

i) om0 m@mm FeCl; 00 gmo mzmzm NHsSCN(aq) &B: gides @ipens 8D g wme 8O
Cledm B¢ O B1e PO Lo O pcT BBBE gy dcensd DHD 0 woed
edndco ©®i oulmse HEOE Buemd ¢@ O ulmseans IEmE et =R
o220 NH4SCN(s) o e 80 o sporw 618 eb.

Fe*'(aq) + SCN™(aq) =— [Fe(SCN)]**

[SCN (aq)] &8lme 80 8. 1. § 39D 00 8 »S ©ReD, .. HBGwO @880 Quod

8¢ 8 .

20 o8 mewmd FeCly(s) dmng me 80 ¢ §C oXnd® Sewn 8C SBrwens® c1ed.

=0 sBmes :cwd NaOH(s) omn me 80 Fe¥'(aq) + 30H (aq) — Fe(OH); | o8.
[Fe’(aq)] 280> SBex @ O § gqmo o880 quoedend A0 8 ob.

. [Fe(SCN)I** f0m BHen .. Oy B gf 0. e®xd Fe(s) Omnp ne 50 .3

2Fe*(aq) + Fe(s) — 3Fe?’

e [Fe3 "(aq)] 280> Bexn g HBrwes® crEd.

(=)
~

Y
~—

1990
7) a) qQ(g) + rR(g) == sS(g) + tT(g)
q T : s it
_ [s@iT@nt _P§. P}
K @ RET Ke=pa op

P,Q, R, S om D1y 0omc® obynbien wig3ci® comdomas e 80 PV =nRT eulc®s’
PV =nRT

~P=[]RT

Q(g) ega Po = [Q(®)IRT  ..P5 =[Q(g)]* (RT)®

R(g) oo Pr = [R(g)IRT .. Pg = [R(g)] (RT)
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b)

c)

vancedl.@
S(g) esqmo P = [S(g)]RT  ..P§ = [S(@)]’ (RTY \

T(g) eogeoo Pr = [T(g)]RT .. PE=[T(g)]' (RT)'
Kr 8 oo,

Kp= [S@I°[T(R)]*YRT)S(RT)" _ =5 1981 A/L (6) - a) o
® @ NRE RO R CONBD ©HBD (6) —2) 8 ¢ g -

=Kc. (RT)s+t—(q+r)
=Kc. (RT)*®
C,HsCOOH()) + Csz<l)H(l) —CHsCOOC,Hy() 4 By
1 : : 1 ;
G360z &5®ren mol 1 1.5 !
©OEm B90 yBBw™ = YeIw
C2HsCOOH o823 x 5® mol {}J-x X (BeBBewi®Bu qmn0)
c0Cn B0 ere¢m y@rema mol (Bel8euidBe gmd X i
80pBEm» 80 986 y®reww mol l1-x 1.5-x X X
20nGm 80 uddBed 6@ Vdm’
23 1-x 1.5—-x X X
8 ©®pBm [ ] mol dm N v v 7
_ [coHsc00C, Hy)H,0)  _ gmoldm™® x Fmol dm™3
 [C,H5COOH(][CHsOH()] 2% mol dm=3 x 2% mol dm~3

x2
T (1-%)(1.5-%)

1
SOEn Bgemewns’ — =3 g1 Co:HsCOOH g®@renes

C;H;COOH (g) + NaOH(aq) — C,HsCOONa(/) + H,0(/)
20

¢®as § NaOH y@®iencs =0.1 mol dm™ x —ooh dm™
1 0.1 x 20
. . @ =
- Too C.HsCOOH &®sescs (;lgOO mol
\’:3@95-66 C;HsCOOH g@semcs = 10.00 x20mol x 100=0.2
l-x =0.2
X =0.8
_08x08 _ 64 _
ozx 07 7 431

1
oL @ T5; @m0 NaOH e00 gn@wns 8668 & C,H; — COONa 290 o802 5

C,HsCOOH @»ens’ 9dsf d e 8. . 8 92D gum ©ORBHmOS aoesedesd ;@:\’;
268, o® Beo CHsCOOHCH; 88x8 2000 Bowismn Hm Bemo 80cP

!
CHsCOOCsHs — CiHiCOOH w9 CH,OH 080 onfow e cropm CHsCP0

@oescs OpEH Hdesn ened. i«
0® Ben 8@npEo 008 0°C oxfns oo grd. 8o 2OpCmmbe »08. a8
NaOH @0 85®iomo ¢ gnd.

HBr(aq) + 0. H2SO04 0@ o 538. 080 o R0 Daggbes 8O 8.

2HBr(aq) + 9. H2SOs ——F%—> Bry(g) + SO,(g) + 2H,0())

: \ ) g &P
g2iog Bra(g) + SO2(g), Hi0 ne & omwn ms owo BaCly(aq) c©8. 880 gt ¥ 'XH
SO;(g) + Bra(g) + 2H,0()) > H3804(aq) + 2HBr e3,2 g1z,

(BaCly(aq) @000 AgNOs(aq) ¢ ewigp o w08 o)
. @®s uyBbbos YBFWOS.
2HBr(aq) + €39, HzSO4 #Brz(g) + SOZ(g) + 2H20(I)

.{ v
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Chemistry Essay
1990 Sp.
8) a) Az(g) + 2Ba(g) 2ABy(g)
1 2 2 : 2
40002 gDesNed & y®res mol 1 2 =8 088
28nBm 800 uyBFw mSm A,
Y®ess 507 Ben yBFwe =5z mol } 0.5 1 -
©@8m 80 ee¢x y®res mol - - 1
20nEm 80 udofed § Hig y®ren mol 25
1
©0n8n vfRBed Hiyde O ML = é g

2008 8ddBed §6 8Ome 100 atm Se
282 80 atm }

1 2 2
EXIOO EXIOO E x 100
20 40 40
Kp= [Pag®] __ 40atmx40atm
Pa, X PA-% 20 atm %40 atm x40 atm
b) ©8ms mewmd AgNOs(aq)  FeCly(aq) S 080 8o g NHiSCN(aq) dmn =d8.
980 m¢ O ©0 ¢ ©b.
e@8:3 1088 dxless,
Fe*'(aq) + Ag'(aq) - Ag(s) + Fe**(aq) e 908,
Psioy 5O obms HmEomd Ag(s) 00 Fe'' omn 6 S 090823 6sd NaCl(aq) ¢@8.
80 ¢3¢ AgCH o8 Beoxs! o128 Oxiess,
Ag(s) + Fe**(aq) > Ag'(aq) + Fe*'(aq) 18 a8 208.
-, Ag(s) + Fe*'(aq)=—=Ag"(aq) + Fe**(aq) 985 =:® gHobos .

=0.05 atm™

1991
9) 1) CO(g) +H;0(g) = CO2(g) + Ha(g)
1 1 1 1
G6®w gde3%ed € mol 1 o8 058,
20pCn 890 yB8w »o» g®Ierw
(CO(g) x mol ©8 ®Hg.)  mol } X X e88eni®8s gmd
©=0p8n 80 se¢> u®e mol (HedB8ewnid®Sae X X
amP)

o OnBn gddHed & 988 g@®rems mol 1-x 1-x x X
= [CO()]  =[H0(g)]
- [CO(g)]  =0.134 mol dm™ = [H,0(g)]
CO(g) @3 H0(g) o8gben 015561® comGona m¢ 80,
PV  =nRT
n

P =3 RT
) rp__ P
-1 RT 8.134 Nm k1 mol1
~P =[]RT

=0.134 mol (10"'m)™ x 8.134 Nm K" mol™ x773K

=134 x 8.314 x 773 Nm™

=8.61x 10° Pa
Beed® PCO; = PH2 = 16.88 atm

=16.88 x 10° Pa

_ Pco,-Pu, _ (1688x105Pa)’*

Ke =

" Pco- Pujog)  (8.6x105Pa)
28493

74.13

=
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@y O 53e30) 28z g 8,

®n ®8C Y
ii) PHZ’ 33 Qeﬁwﬁb‘f o8 ed. (@@8 & 120
& Kp dgo e2xn008.

1992 cemm0 BEnot B0 31>
10) 8) 81/AL 2) w0 S0/AL 8) a) 00E® 8 CEEE T o700 .
b) RQ4(8) = ZRZQ(g) *+ Qg
1 : @ =
a8 oSR8.
gs®wm gocoed § mol X o8 058.
20nEn 800 yRBwm nim HOI® mol ] _ O :
L 00pBn gduded & u1e¢® y@oed MO a—-X 2% x

1
2308n 40eded & @RS ydres Mo BBt =
.. 3On8n g0Eced & gRG §o Hig e mol I ngx@ @zﬂx X =a+)y
sddBed Digde ubgben wn® condons 6 i

Pan
~4atmoa—Q@
6atmaa+2a—@
0@, . ——=2
>Ta+2a B 3
3a =2a+4a
4o =2a
a
a =7
RyQu(g) = RZQ(S) +Qafg)
3 a a

. ®8s ¢deded € mol T a m n

' 030p8m def%ed & § dig mol ﬁf

. 9@n8m ¢duced 2 e o .;. § %

. 0pEm gded%ed € g1.8m BOm

(098m BOHms 6 atm Heso) 3atm 2atm latn
Ko = PRE®) - PQ:(g) _ 2atm x 2atm x 1 atm
F PR2Q4(g) 3atm
_ 4atm? _ ”
3.1 3

Kp=Kc (RT)

4 5 Sag2 .4 _ _

310X 10N ! =Ke (8314N m K- mol” x 300K 2

S S

b _(8.314x300)2 mol* m$

400

= 4
3x83142 x 32 % 10" mol® ;¢
=214x10° moP? py6

11) e KI(s) eom KI 860 eslg H,80, oy, o
I, &30 80 8. 88cms CCly / CHCI, ééa;iz@ 80 ¢® w0 T > 1,800 @38

2 + S03 2" L+ S0, +H,0 a8 cve:s. Hedes o
SO,(q) + Hz0 8s 26 owo Ix(s) [OI%R

sl §
cred. 8 I e8:8s B so Bast
v 8308 + 1, > 2" + 50378 evess, aCly(aq) <8

_
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Chemistry Essay

1993

12) eonBombed ©o8m lodomethane ©ddBwd 20 cYaSDedi® O Iodomethane &0

B86=RE | gbeg ¢ ames me 80 Hdved & 88cwmBe | 0.0 CHil gi=.

13) a) CH3CH,COOH 1 mol ®o CH3OH 1 mol ©o ¢zdzy H;SOs mol y@®esczs (x mol) o
8gmd =OnBm O oms & menon OF 20 ©OREHMOEO ot g o =09

cBesO0 o m mEm 0°C vnme 80 w8 yBSmed @5l wr og uBgw
208, gxlvy 00 wonpBn Sgaecd eHED #18 CH,;CH,COOH @gc u®iescs i@idim
NaOH ©823 ¢bwms oce Phenolphthalein sbama ¢ gm@ime 8603 eesBw w1,
1o § NaOH ©8c g@sesa = HySO04 98¢ g@renw x 2

+ @58 CH;CH,;COOH &gc y®ienn
.. CH3CH,COOH @8 g@reic esdo uim. 8o a 28,
88w m»¢g CH;CH,COOH @8c g®rencs

b)

88w =g CH3;CH @8c g@rencs

CH;CH,COOCH; CH;CH @8¢ 12 g®ieso

H>0 e31¢2 mol g®renes

CH3CH,COOH(/) + CH3;CH()) = CH;CH,COOH;(/) + H202

=0pGn ®jc 1-a
_ [CH3CH,COOCH;3(1)] [H,0(D)]
[CH3CH,COOH()] {CH3CH(D)]-
©®wcensd enleds? Ke oedn wim.

$0®0m goeded Gz mol
=CnEn BP0 uffx wom A 8 O8¢
s@encs o »® gBfwe @z mol
00nEn gbeded 8 eygey mol
2OnEn gdedced & 86 mol

2 -
O8> 8bt3ided § o@D vdm® »® } ——v—a

sOnBmmoed & [ ] mol dm™
- Ke = [C(aq)] [D(aq)]

. [A(aq)] [B(aq)]

gmol dm—3 x 5 mol dm™3

9= 2-a

2-d
£-c -3 4 2 -3
v moldm™3 X 7 mol dm

32 .____az__.

T (2-w)?

- 3 = a

. 2-a

L6-3a=a

6 =4a
3

o =7
2

- A8 986 8¢ g&rean

]

Il

(XY NP N

A8 @88 %

(8699 g2z Be)

x 100 = 25%

a

A(aq) + B(aq) = C(aq) + D(aq)
: 1

1

<lag @

o (Eer88exid8o ¢nd)

<la R R
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AdvanCe
d
1994 =
14) a) 27°C & AB(g) = A(g) + B(g)
. 1 1 : 1
SORED 405N6O & gooB B atm 025 0.15
“Pa =09-(025+ 0.15) atm
= 0.5 atm
Kp = Pl,:. Pp _ 0.5atmx0.15atm _ 0.30 atm
AB 0.25 atm
Ke  =Kc®RD?”
= KB
RT

= 0.3 x 105 Nm—2
8.314 Nm K~1 mol-1 x 300K
100

= -3
8.314 mol m

=12.03 molm™

b) Fez:(aq) 01 Ag'(aq) oo 8. eziog 6wd SCN (aq) ¢8 80 ciedm ¢ oy ven;
Fe™(aq) + Ag'(aq) — Ag(s) + Fe*'(aq) eoigeq @0 ooiB8 0. @udoe Ag(s) + Fe*(,
O o8, exloy ci@e (aq) @ HCl(aq) ¢8 80 AgCl gg admedos cob. con

Ag(s) + Fe''(aq) — Ag'(ag) + Fe?*(aq) enges 0 o@8 ©. . o® e 000 S
u80bms 8.

1995
15) i) 1981 A/L 2), 1990 A/L 8) — a) e 1992 A/L 10) a)
Kp=KcRT)*" 20 8o qim.

ii) CH;3COOH(/) + CH3CH(/) === CH;3;COOCHj;(/) + H,0())
1 : 1 : 1 i1
§o0@w gDe3Ged & g®res mol 3 13 — _
OpEm 800 yB88wI Iz »®res mol
CH3COOH @8¢ x 8, :l» b X - -

Bo88ewaidBe axn®

3®pBm 80O 3104 y®ien mol - _ X

X
Be0188exidBu ant

0Em 80 986 g®ies mol 3-x 13-x X X
©20np8m 80 988 y®ies mol 2.8
x=28
‘. ©@nB8m 80 988 y@e mol3 0.2 10.2 28 2.8
0B Sgened 88O vdm” :L 26
-3 0.2 10.2 2.8 faid
208 [ ]mol dm ) - ~ v

_ [CH3COOCH3(D][Hz0()]
Ke= [CH3COOCH3(1][CH3CH(D]
%‘2 mol dm~3 x 5",5 mol dm—3

0.2
%2 mol dm=3 x 2= mol dm-3

196
2B X328 088l
2x102 51 —=—

4‘/m
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r

6
a) i) oximdy cdesDam T

1 & 1 | I k
G6®tom y®res mol 1 1 - -
29nEnded gRBw wdm YOI P
RCOOH @gc a w8 ofg. a a  detiBewni®Bs gnb.
20Rnded tegm mol 3e88exi®Bn ¢md a a4
. 0B 40dded 2 ¢R6 g1 mol 1-a l-a a g 4
2P (e X
La=x, .
oOnBn 4dd0ed ¢ ¢80 fc YO rme 1-x 1-x X X
.. o¢oBed =800 V dm® eents
©0t0m0¢ [ ] mol dm™ x X - z
A ' A v
Ko= [RCOOR()]H,0)) _ § mol dm™3 x5 mol dm™~> :
[RCOOHMIROH®]  **mol dm~3 x 2F mol dm™3
x?
- (1-x)2

ii) 1993 A/L 12) - a) ©c 8w g

CH,COOH 0300 CH3;CH,COOH ¢, C,H;OH @000 CH;0H com S0 . -

998
7) i) 1995 A/L (7) - a) i) 02 1981 20 Hbeqax2) (Bods 5880D) wgw Guo gm. -
Ke = Kc(RT)™
i) REY R TR
50w gO3ed & gSreEn mol 5 3 .0
2opEnded gifer ndm goreax mol 03x35 1.5 C W
(HoondBewiSBe §mp) .
20pBn qodted § seem gieaa mol- _ - TN -
Onln qodded 2 @i gerew mol 35 1.5 LS
=oplm gosNed § 8fc @& mol - 6.5 .-

35 15 ~ 15
2Op8m gdtied § OfC wawd os B - }‘i
=0pBn gddted § qoliio =) § - :
enlm goeed & g Bomas 10.13 10° Nm™* SBex T I S

1x1013x10° Zx0.13x107 Sx40.13x 10°

Pqr;(8)

=

‘ " N
2 x1043 x 1030 L

Kp"

_13x 10~5Pa?!
T 7x101

3
=] 83 X IQ—GN;I “2

. s
1

e

= 4 b e s Ry ""“"_T‘*&v"..\
PoRrs (8- PRy (e) ;ls_xio.nxm—‘vhmr?x{sgmigog;mmnﬁ; o

R

RCOOH()) + ROH() —= RCOOR'+HoO(): ©
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Ad Vanceq L
—

e

Hy(g) *
i

L(g) == 2HIy
1 : 2

[NO(®)]? [H,(g)]
25

S moldm™3 x 25 -3,25
_ — mol dm—3y — moldm=—3
25, -3 %15 -3.5
z MOl dm? x 2 mol dm-s X3 mol dm-3 % 2 mol dm-3
_ 2X25X25x2.,5 dn® 2 m
15 X 15 x5 x5 mol

-3
— m031 dm

= 0.556 dm’ mo™!
ii) Kp=K¢(RT)2" -
) .PK =&) An~1+2§2‘2=~1
P T RT
- 0.556 mol—1p,3

8.314 Nm K-1pq1-1 X
x10™* mi]ﬁoo «

a a 53—(8 G'Jﬁ@

oo Yoeics mol xe30008Be0wiBs ,,
r@qema@a g8 md;’ 50) mol } X C 2 “
y®eso (Hy 060 x 8 © - BeodBenivn. "
€08 80 te¢m g 5 = %%

i 2x
©O0pBEm 50 988 Dy y@red 3a-x  a-x =
©onGn 80 Vdm’ »@ (atm) [ Jmoldm™ <= 7y
10 —
__ [Hi@E)? a7
CRoLe :
_ (ZVEmol dm‘3) a:
K= (? mol dm'3).(3‘_,—x mol dm"3) )
2x 2
250 g)
X
c—5a-5x=2x 2 0 /0 I
7x £ 5a 7
nx3,
7 t [¢]
L2x g a e
b) i) 2NO(g) + 2Hj(g) Nz(gl) 4 2Hz<§(g)
2 : 2 :
0@ g®sescs mol 0.20 0.10 0.20
©®8m 880 y88wr mcx NO Y®oencs
X 2® g88w md» y®sess mol }x x - -
@08 80 ee¢m y®rens mol - - g. x
©03Cm 80 986 y®rewcs mol 0.20 — x 0.10 - x ’Z_‘ 0.2 +x
|
0.15 ¢xdmcs
< x=0.05
=@nEm 80 988 g@res mo] 0.15 0.05 0.025 0.25
0078 80 mzleencs mol m= 0.15 0.05 0.025 0.25
0. YT = 02
ity ¥ 5
Ko = Me@llH:060)? 2 2 2 2

M
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2000
19) 1)
300°C
a00®w y®res mol
20nBn 880 ylfwm mom yoes

Ag) +

B(g) == P(g) + Q(g)
1 ] 1 1
1 o8 058.

A8 xmol 8 oS8, X (30188 e0i®8n )
©ORE® ¢0edNed € eregm y®ren mol (ﬁ@@a&ﬁ@wi@ﬁw eng;ﬁ)) X X
o®nBn 903%ed & B8 y®ren mol 1- 1- X X
©®B» 4ddNed € 9R6

§O D13 115 mol }1—x+1—x+x+x—2

©0n8n 30eed & 8 s T .1.2_ }}E ’2_‘

...XA=XB XP=XQ
-~ Xp=02=Xo
XatXp+Xp+Xq=1Sen

il) cOnBn gdded € §o B8Oxmws P 8,

Pp=0.2P=PQ
Po=Pg=03P
=Pp. Pq
KP Pa. P
:0.2PXO.2P
03Px03P
=%
2.
iii) 400°C Xp=0.2=Xp

c Xp=X0=03

iv) P 8 8gc woe cdasds 518 ng 80 &8 B q. ..

=+ goos
v) 8. &1 §caben
vi) eOmes 8¢ exed.

uB§w@® mis gdeniendas.

2001
. 1.995 x 105Nm™2 x5x 1073m?® _ _ o
20) i) I) np= S 1aNmK-TmolTx 300K 0.3999 mol = 0.4 mo] (27°C)
4.656 X 105Nm™2x5x 1073m3 o
II) nr= 8.314 Nm K~1 mol~1 x 400K =0.7002 mol = Q‘l—mgl (127 C)
ii) Plg) === Qlg) + R(g)
1 : . 1
0@z H®iesd mol 0.4

OnBs 300 Brdnn O g&rerd X @3 coé‘!@
0OpBn g0eded § wreem g&ien mol™

X X
(6500088ew¢i®Bne and)

20p8n ¢dded & ¢B8 goreso mol 0.4 -x X

P(g) =—— Q@ + R(g)
0B g0dNed & B8 Dig y®resm mol 04+x=0.7 .. x=0.3mol
OnBn gdded & 988 Dy yieiw 0.1 0.3 0.3
©OnEn gdded § O wee T:L % 2_:57! %3
2OpEn g0Ned & gi8n BOmn P

Pesuru book 3-1 13

~AH



[ ¥, ¥

— : Adva”cedl
4.656 x 10° Pa zBma Pa 1x4656x 10°  2x4.656 x 105_*65
~Pow: PR _3 2 X 4656 x 105 Pa+ 3 X 4.656 105 Pa 61
Ppg) ; X 4.656 X 105 Pa

=5.986 x 10°Pa
=6.00x 10°Pa
iii) 400 K Sesy
Ppg), P L Q@) Pr(g) Omed e2med. (comdom)
—-x4656 X 105 Pa

XP"‘ =M

6.651x 10° Pa
S Xe=Xp=03(QuR S g8 8Oz @12 Bzt w1 Pp x 3 =Pg fesy)
S Xz=03 el
= 6:651 X 105~ 4.656 x 105 Pa _
Xz= 6.651 % 105 Pa =03

2002
21) i) Na(g) =68 =5-0.843 dm® = 4.157 dm?

=PV _1x105Nm~%x4.157x10~3 m?

N2 “ Rt (8314 Nm KT mol~ x 400K
=3 mol = 0,125 mol
o _ 13.2x 105 Nm™2 x4.157 x 103 m?®
i) A)nr = 8.314 Nm K- mol-1 x 800 K
B) C(s) + HyO()) === CO(g) + Hy(p)
1 : 1 : 1 ! 1
0@ »ySrencs mola 8 ofG a 0.5

eOp8m DD u8Fw no» s x 38 ©5Y X

©@pBmded & ere¢m mol X
2®pBmmbed & @88 mol a-x 05-x X X
@88 §& g mol 0.5+x
0.5+ x=0.825-0.125 mol
= (0.7 mol
x =0.2 mol
S Deog) = 0.2= nHz(g)
. IH,0(g) = 0.3 mol
02
0.3 0.2 —
iii) 208 ofoSed OFC ©O> - 0.825 0.825 ";325
Bomo Pa - 13.2 x10°x 3 132x2x10° 2% 10 3]
OB 3:30DOC &3082 B8O Pa 2 x10°x — - 825
Kp = Pco - PH,
P PHzO
5 —2_x 105 x132Pax132x 105 x—!’a
= 13.2 x 105 x ﬁ; Pa
_a.3x2x105Pa
- 8.25
=213x10"Pa
A), B), C) ©o@mBn ogoSed 1B &3 O3 O13e® g8 BOHO @d.
iv) A), 13.2 X 2 x 10° s
Py, 0 = 4.8.x 10°Pa Py, =Peo=———7-——=32x10"Pa
D)’ - olofed §0 BOma  =(4.8+3.2+3.2)10°Pa
M |
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V) gewids
s ece, edal m@®wsd 28cOnwd eces
geomadn e®¢ gBc »BYEBmiens »S D108z3 380
concom
©® o1® DO LBylies WY@ (O @D w1 N; BBw Higdst ece viBecs @D

2003
: . [s0;(aq)]
22 g 2L
) a)i) K¢ 50:00] o sorny
ii) SO;(a0)— H'(aq) + HS03(aq) - K= "B
- - . v__H*@e)][s0f " (aq)]
HSO3(aq) <==x  H'(aq) + SO37(aq) .. Kc= [50- @a)] (In
+ -
H:0() -»_H'(aq) + OH (aq) fKe=H ("’fgi o Gl (m)
e ¥mdenw ¢md pH goo SOy (aq) ed pH gowd .qdd dced pH qowsd O
a8 @b,
Do gaemensd SOx(aq) D8m we 80 SO,(g)==S0,(aq) 9BFO goedesd
AL 8¢ @8. [SO2(aq)] gRO® Hen vef BSOS guednd AcO 8¢ 0. .. [H'] 48
@8,
.. 00 gBfwmeds credm [H'(ag)] emneicBoe viBa. ... D185 8883 [H]  om
Besr pH 8 &b.
iii) [} HCl, HNO; &8 289cws omn meg 80 @dsed ¢ [H] 98 8 Sexn 8. O O}
320 ve§ yBGwO gotdsd Ao 8¢ 9. .. [SO,(ag)] 18 8.
II) NaOH/ Ca(OH); &8 wdews dnn ng 80 @1dsed g5 H'(aq), OH (aq) es®®
988w 6 H20 o a8x3 [H'] g8 80 Sen gBSwmid 9%8wd QD 8¢ @O.
" [SOz(aq)] 8 8.
b) i) A(g) B(g) + D(g)
1 1 |
—Pe® Poe) = [B@IbE)
Ke Pagg) Ke [A®)]
ulnben viya® comEomne e 80
P=CRT .. P=[ |RT R - &g Romes
. R
S Kp= % =Kc. (RT) T - ©13ed cdendow

1 x 10° Pa
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A(g)=—=B(g) +
1 2 1 :
2
B0 H®rexmcs mol _
:@:aém §®a 988§ mam SIOLE %) X8 08§ i}
©=0n8m 30008 eeem y®Ieso mol 5 ) X
©OREm 0ENe08 o8RG 9®ie5:3 mol ()E
D8 exdmes ’ s
SORED 4DeGen € mol 0
€, 6.5 mol 18 Ses,
89 8oy mol = 1 e iy
8 wop 1ot o5 15
mol

10
S086d §¢ Bnume < 1x10° Py

- ©®p8n 8y %08 8823 Py
3 5 3 s
Kp = PB(PQ_ PD(E) = EX 10°Pa x > X 10°Pa
A®®

2—10 X 105P3

—l-x 1 x10° pa
20

PA=[ART

2—1~ X 105Nm-2
[A] = 300K x 8314 NmK-1 % pol=1
* [A] =2 mo] -3

=2x107 mo) dm3

[Bl=6x 1073 p,
= B@InG)
Ke [A®)

= 8X10™ mo) g4y-3 6 X 1073 mp] gpy-3
2% 1073 mol gm=3

ol dm™ (=p(g))

_ 4.5 X 104 Ny -2

- 8.314 Nm l'(‘lm_gl-1 X 300K
= 18.04 mo m

=18 x 103 mol dmy3

= L8 x 102 o) gy

7.}

3.5 x 10* p, 6.
i) Xy, = 49%104¢p;

Nt =9.1 mo]



Chemistry Essay

0.6
Kp =223 49%10%Pa x 22 x4.9 x 10* Pa
P - o o .
22 x 104Pa
— 18x10*Pax0.7Pa

7 %x9.1
=0.138 x 10* Pa

=1 38X1Q32ﬂ

iv) KP,,oc < KP“oC

S clemsbe 618 ne 80 yBGwd ¢tbud ado 8¢ B g, .. mv gdeaizmns.

v) D(g) omg 880 Sen quo®wed & u810 918 8. ¢ [B(g)] 018 we Ben & 1. §
a0 98§00 potied A0D 8edm Hexw mol yoresw ¢ NS 088w ¢ @O.
¢Demed 2 Bum 0v8810m0 uBea OpBomdrd videed.

23) 02(g) Sced =B miveme. .. g3ousdm dced 0, 185d & ob. dv gve T vif 8o
01(aq) Bewed 8.

2004 x 127°C y 127°C z 127°C
A A(®)=—===P(g) + Q(g)
A(g)=——=P(g) + Q(g) B(g) + C(g) R(g) 0.2 mol
0.2 mol q6®0ed 8 05 03 . B(g) + C(g) ===R(g)
qo@ved & 0.2 0.2
v ” v
8.314 dm® 8.314 dm’ 8.314 dm’

Onp8ombed &

8oma = 1.2x10°Pa 1.4 x 10° Pa

i) I Al(g) — P(lg) 4 Q(lg)
2209w §0e3MHed € mol 0.2 - -
OpBmded gBSwe ndm yoress mol o 8 eS8,
20BndeD thegm @ik - o o
20nBn ¢bMed € y@iess mol 02-a a o

©0nEm gdded & §o iy y®rescs mol 02+a

. 20nBn ¢dddDd PV =nRT cuied®=s

& E@resd ol - = 1.2x 105 Nm~2x 8.314 x 10~3 m3
oOnlm o 5 8.314NmK-1x 400K

=0.3 mol
5 0.2+ a=0.3mol
a=0.1 mol

_0d _ P
Pa =P =Poy =55 X 1.2Pa=4x10"Pa
_ Ppg)- Pogg) _ 4% 10%x 4 x 10*Pa

2 KP Pa 4 x 10*Pa
1) B(g) =—=C(g) + R(g)
1 § 1 : 1
6@ gbded & mol 0.2 0.2 -
©0pEnde0 gBfw no®» YOIeEs X BV,
2OnBn 40dded § y&raan 0.2-x 02-x X

2Ol go0t%ed & §0 Dy g®eics mol  0.2-x+0.2-x+x=0.4-xmol
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1.4 X 105 Nm~2x 8.314 x 10~3 m3
04-x=
8.314 NmK-1 x 400K

=0.35 mol
s X =0.05mol
Pa=Ppg=72"x1.4x 10°Pa
=6x10*Pa
. Pr=2x10%Pa [6—’3#] (©8c gosess 3 Hex)
s Kp=—TR 2 X 10*Pa

Pag).Pclg) 6 104Pax 6 x 10*Pa
=0.055 x 10~ pa~!

=35 x10°pa!

IDZ8 ¢ 8oma  =1.2x 105+ 1.4 x 10° Pa

=;;gx I!!s Eﬂ

V) - Ps _ 6x10%*Pa

P, T 4x10%Pa

i) A(gle—=p(g)+ Q(g)
AH® = ZHggs; — THgagen
=40 + 30 - 50 kJ mol!
=+ 20 kJ mol™!
. 98800 moedbemiend.

B(g) + C(g}—=—=R(g)

AH®° =ZH_g,. - X
=60 (35 + 45) kJ mol™!
=— 20 kJ mol™

A(g) P(2) +Q(g); AH® =+ 20 kJ mo]™!
S ceemsde &8 ne 5O o880 9860 ace 8¢ 8. . Py g6 ©b.

B(g) + C(g) =—=R(g); AH° = (-)
" 98§00 quoedsd A0o 8¢ @8, P; 98 9.
i—”q@comm 18 eb.

A

- Ps(®)Po(g) [B&)L{D(g)]
: Pp(g)-Pp(g _ :
PV =nRT
= B
=iz RT
P=[ JRT
; _ [B®)].RT)[D@IRT)
.o KP - . [A(g)]a (RT)2
e K -
Kp=Kc® 60 o oy, .23
-'- g = g
. _ Pe(®)-Pp(B)
i) Kp="(pya
8 X 105Pa x2 x 10°Pa
- (2 x 105Pa)?

I
(=)

=2

AdvancedL
N
< 8C 1 o0 @z

18

w
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iii) 2A()== B(g) + D(g)
310992 15w mol X -
2OnE» D00 BB mom yrenws mol a -
2@nEm gotddied ¢ wreem g@iesw mol - '2 g
@58 y@renw mol 2 =5 2 g
958 O Dy ¥ enas mol % = %+ g X
28 iy ueighy = cr®wm Y y@rerw
PV = nRT cug®
$= an n.R® Ve cows D Nex

X _ Y )
300K soor RV omd® goast D Hew

=<~
Wl

0¥Cmmded 8 ng = np Hes

PB = Pn
S Pg=Pp=ze®
&@Qém 80 PA B PB W PD =Y
L PA=Y=-2Z
-
(Y-22)2
2=_2
(Y-22)
2Y =52
52

Dy ulnliess mBey. a=2.. An=0

Y =8x10°Pa

e Bx 105Pax2
5

=32 x10°Pa

3Y

>

5
_8x 105Pax3
5

=4.8x 10’ Pa

iv)(ii) 8 g8 =20nE» 99c u@ewx =n; O, PV = nRT 883
_PV_ 8x 105Nm~? x 4157 m?

o " RT 8314 NmK-! mol-! x 500 K

2
___40)(1: mol = 800 1
50 A ®§¢ n @@ ¢§ 80 §d y®iens ny mol

_ 2.5x 10°Nm~? x 4.157 m?

2 T 8314 Nm KT mol~1 x 500 K
2,5 % 10° mol
==————=2500 mol
5x2
2013 @3

n=22 (RT 21 V 6m® ai8s9)

> =k (kog Sonos)

800 mol _ nz _
"3x105Pa—2.5x105Pan2_25 !
C. oo e A 8 y®iess = 2500 - 800 mol = 1700 mol
ng = np OpComded § gun 8w §xd,
.. na=2500-2np
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Advanced
—

XB=XD=( ] )

2500 mol
X =2500—2ng
2500 n 5
. — __Ng
. PB(zgéno PzD(g) _2500 x2.5x10° Pa
i = nB 6
P 2500 < 2:5x10"Pa
028 T Sesy

(zﬂs%x 25 x 105 Pa)2

2500~ 2
J:S%B—xz.s % 106 Pa)
e (zB-x 255 x 106 Pa)
. " 72500-

(‘:S:Tnﬁ-xz.s x 106 Pa)

Sng = 5000 mol

ng = 1000 mol
. 1z =500 mol
Pag = 2DoRSx10Ra z:o,; L 5x10° Pa
1000
PB(g) = PWS):EE x 2.5 x 106 Pa= JQiRﬂ
DO 2O

=2.5x10°Pa=5x 10° Pa~ 2Py . (Pp = Pp Ses)
2Py =2x10°Pa

Py =1x10°Pa

2006

26) i) V=8314%x102m® x 3m
R=300K P=1x10°Pa

PV = nRT ewZe®:s,
_1X10"5Nm™? x8314x 10~2 x 3 m3
8.314 Nm K~ mol~1 x 300 K

nx

ii) A) 2X2(g) =Yg + Z(g)
: 1 :

go0®wm y®Ies mol 10 - "
®pB» 880 88w moxm
5®oencs X ® }

0@Bm 80 t1e¢» y&ies
. onpBnm 80 988 yoies 10 - x
©®pBm 9RB y®ies

N XN | %
NI XN X

10-x + §+§
=10 mol

.. n=10mol

P=1x 10° Nm™

T=127°C =400 K

- n, P Bem ed.
Ve

3% 8.314 X 1072 m? _hx8314x10-2 2
300K 400K

IO ot
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B) K== Y@E + Zg
©®pEm 80 mol 10-x=4
LX=6
2938 80 mol 4 3 3
10 mol
©OnEm 80 08¢ wivw 0.4 0.3 0.3
©®nB» 80 @B BOme Pa 04x10°  03x10° 0.3 x 10°

. PX=4X194E3 PY=PZ=§><1!!4EH
C) Ky = 22 Pve

Z(g)
_ 3% 10*Pax3 x 10*Pa

4 X 10*Pa x 4 x 104Pa

ill) B¥Gwo Digoes B@ cEasOedt ® ¢§ S OpEomde eneds AcH@s S He
Px, Py, Pz c0med o,

s Px=4x10*Pa Py=P;=3x 10*Pa

J. Dy, Ny 92 Nz O emned.

NTotal = 20 mol

S Pr=2x10°Pa [Px, Py, Pz= 10 mol, &cs 418 =6z 80z 1 x 10° Pa Beao)
L Ps=1x 10° Pa

v) 22® T, 80¢ D1y dmtos e
PV =PV:6208@ Ru®c ewule®ss
2x10° Pax 4m x 8.314 x 102 m? =P, x h x 8.314 x 1072 m?
2x10°Pax4m=1x10°Paxh
.'Q ll = S !!!
T Swom aqds3 e0nEomde cdmed emed.
;. Dy, Ny, Nz eOxed ezned.

=—mol 1 x10°Pa=2x10"Pa
20 mol 1 e
Pr= Py=-2% x 1x10°Pa=15x10"Pa
z 20 mol e
o Py =20, | x10°Pa=5x10Pa
20 mol e
208 n®es

Bome 010 eom (i) ¢18 Bog® (Ho & S BOmns 2 gaels 48 § S o801
eq@ennisl 018 @O. .. h=38m
3282 BOme ¢ wIweSs’ ¢f ed.

.. Px=2x10"Pa P,= Py=15x10"Pa Ps =5 x 10* Pa
V) comcon — obnbed 8og® Sy vifieds A0

2007
27) a) i)
A(g = B(g) + C(p)

oc®w gbeded § y®ieacs mol 2 1 1
©OnBm goesed § y®ienn mol 1.6 1.2 1.6
.. 5B88@ ¢ mol 0.4
.. egmy mol 0.2 0.6
;. gR8or g ¢ e15eg Mol gmd gmsImes 2 1 3

5 2A(g) == B(g) +3C(g) eb.
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i) 2A(g) == B(g) +3C(g)
. . [COP [B@)]
-~ Ke= [A@)?
iy 2A(g) =—=B(g) +

5 3Cg)
=085 90e%ed & y@ess mol 1.6 .

1.6

3 1.6 1.2 16

©02Co ©600 4157 dn’ Be [ Jmol dm™ = 4157 i
CEP B

Kc = @ B@)

[A@®)?

3
16 -3 [ 1.2 -3 ]
[4.157 mol dm ] 4-.157’“'“)l dm L

)
1.6 _3]
[ +1s; moldm
= L6 X1.2mol2 dm—6
=L dm©

4,157 )2<4.157

Kr=K¢ (RT)2 .
he e (8314 Nm K~ mol! x 500 K)
=1.6x1.2x 10°N? m™ x 4 x 25 x 10
=192 x 10" N? ¢

D0 13®carst

PV =1RT e,

P = 2:6+12+16) mol x 8314 N k-1

4157 x 103 3
=44 x2x5x% 10° Nm™

=44 x 10® N2

mol™1 x 500 K

1.
1 g 4 44 44
©O28m 406060 2 4o Bz, Py 244105 12,40 06 16 x 4.4 x1
5 4.4 4.4

2A(g) T —— B(g) + 3C(g)
©O0E» @8 1© mol / mol 16 2 16

= Pa). Peiy®
Kp= T Pag®
= [16x108Pa)® [12 & 105pa |
[1.6 x 106 Pa]?2
=16x10°x 1.2 x 108 py2
=192 x 10"2 N2 ¢
iv) cdesstoe 08 g B0 K, g Qo

Kp=5.1 x 10" Pa) ., 238 u8Fwn
b)i) D

&8 8 am. (600 K2k,
0 sebeniun @0,

S00K & X(lg) K

=1.92 x 10" pa2, 700K

Y(@) =— 27)
0@ PP yOreic 1 :

: 2
©0n8m 500 X 8 goress x e 2 2
=@0nEm 800 yBFw, =€ mol ]’— %
@np8omded 2 €©1@¢» mol X
=OnBombed 2 ¢R8 ®gc . 2x
©0nEs 40d%ed 2 go 0183 5@ mg) 2 ’; +2 2-x 2x
o®@pEn 4bedned & ©8c mos mol/ mo] 2-x TR 22_’;: 2 2%
OBm 40eded 80 BOmes p 0 908 8025 é P E 22x
R B2 ¢ EX 7F
£ Px. Pyz
4o @)

=X =X
e
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— _(2x)?

Y(g) = 2Z(g)

(2-x)2

o .

R 2-x

2x=2

x =

©®nBombded §  py= ny=1lmol nz=2mol

20 s
X(g) +

QU (38 umICwd e®pB8m mol 2-x 2-x
" 0®0Emm0xx3 [ | mol dm™ 1:?2‘3 1::;3

Kc= [Z(e)]*

X@)1. [Y(e)
Kp=Kc (RT)* An=2-2=0
Kp = KC
(22— mol dm™3
He teezg 0 A )
27X mol dm—3 x =% mol dm—3
15(.26’3)92 16.628
2. .
2= (2-x%)2
— 2x
(2-x%
SLx=1

©@pBomibed 2 Dx=1mol pny=1mol nz=2mol

II) odaBwd PV =nRT exule®z!
_ 4mol x8.314 Nm K1 mol~! x500 K

E 16.628 x 1073 m?
=10 x 10° Pa (Nm™)
=1x10%Pa
ii) 500K & X(g) +
¢z 9 gac®wm g®rens mol 1
e3®pEBmded uB8Bwr 0 z YOrevw a mol 8 OE.
. 0pBn ¢btded & uB8w o g®ress mol
20pBEn 800 ee¢ mol g
e=0nBn gddNed & 88 ®8c 1 +§
208> ¢0eNed §& Dig mol 1 +§ 14
142
©0p8m gbsGed @ wiww mol/ mol T”
1+2
eOpEombed € §o 80xa P »® mol / mol —:—ZP

3-a_\2
—P
Kp=4=ha—)2'

cmy=1+2= 2=1.25mol =ny Dz =2.5 mol

a
2

Y(g)

1

+ = NI
w 4

|

Sk

2x
2x

16.628
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e

iii) Z(g) w0 Y(g), 1 mol a8s oy me »YS IEP emed8 Y mol g®eay g, 7
©®e5c Oty BB, Bwd ednd K emedB Pz° @cow 188, . Z 8 yo,g
me NB i ¢hmd o gy e HHG@IO goodd A B eb. &g

1o
iii) e g e omme 8608 eed. dows o O wermg B6og,
=08, |

X(g + Y(g) == 27

1 : 1 : 2
0B ®9E 1 2 3
©OnEo» H80 yAJw o X 8 mol b=®
©@238» 880 yBBw Sz mol b b
©OpBmmbn ore¢m mol 2b
©OpEommba 88 iy mol 1-b 2-b 3+2b
©08m e88 § iy mol 1-b+2-b+3+2b=6
- -b
©@nEn ®§c wimes mol / mol '1'6—b ?‘g'“' BL:E
=OnBn §O 8Om0 P 8 gi.8n 8Omw %bP —;"I-' P i:,ibP
342b | 342b
S T T
4= 9+12b + 4b?
2-3b + b? 2

5 8-12b+4b’=9+12b+4b
-1=24b
Lb=—

24
b tsaes qoos Be®st o1l Drles’ uBlSki® aoded Ao 8B B 208.

2008
28) i) NH4HS(s) ?NHs(g) + HzS(g)
Kp = Kc(RT)
An=2
Kc=1.44 x 10 mol* m™
. Kp=1.44 x 10? mol* m™® (2.5 x 10’ Nm mol ™)’
= 1.44 x 10° x (2.5)* x 10° (Nm™)?
—9x 1gs Pa?
ii) NH,HS(s) <===— NHi(g) + stl(g)
1 : 1 :
gr0®wm mol, -~ a a8 oR8.
-, e0p8m 800 yBfw BIm s X 08 VS
. 09106 gPiead X X X
@BR6 5@renc a—-x X j—’
- [ ]mol m> I =t

2
- Ke= (5557 molm™)” =144 10° mol’ m™
g x =1_2><10molm'3
*1%10°2 3 23
x=12x10 mol m
- m@c g @0® NHHS(S) 0¢ thmzfds =1.2x 107 mol x 51 g mol™

= 6.12

w
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2009
29) 1) 1) X(g) 2Y(g)
1 : 2
¢:S®m g®reas mol 2
=®n8s 890 yRGwr mom YOI 2 x % -
o®pBnmbed 2 eeem yoes - 1
20pEomibed 2 9B8 yeiew mol 1.5 1
oOnEnmbed 2 §0 By mol 1.5+1 = 2.5mol
©0Bombed € 98¢ wimes % z—lg
3 2
L L
eOnBn ¢dsded 2 §o 8oms
6 x 10° Nm™ Sess qoo8m 80mc :L- %x 6 x 10° Nm™ -_f;x 6 x 10° Nm™
I) Ke=1-
=§x6x 105Pax§x6x105Pa
Zx6x105Pa
=2 x10°Pa
=L6x10°Pa
i D X(g) = 2Y(g) =—=Z(g)
1 : 2 : 1
5D §Sress mol 2

8®0pBn 80 mol 1 0.5

- e Y mol g®eics =2 mol
A) 0.5 mol ;800 0@ wepBonmbed §

gB8w 20 Y 5 1mol
B) c8nBomnded? teem 980 y®ie 1 1 0.5
.. oOpEonmbed & §& Hig mol 2.5
ol 2 2
e0pBombded € 08¢ woa Eﬁ ..E. 5 %

C) on® o800 Hex,
P _P2
T, T2
6x105Pa_ P
150K 00 K

D) Px=8x 10°Pax: Py=2x8x10°Pa

) A) 1) g obgbess vi8edn ao
2) cdesOs 018 B8e® § mdnn gedenn ezxg A0

B) céeson 018 mg 80 Kp qoo 18 8 g1, . 980 985w mo gbeniend.
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30) 1)i) PV= nRT cwie®:

2)

n__
RT

— 9% 10°Nm~2 x 4.157 x 10~m?
600K x 8.314 Nm K~? mol~?

ii)
0@z @€ mol

©0OnEm 880 yBBw mom gies mol, 0 8 oBG.

5 ©oOnBn Be® & ene¢r g®res mol
. oOnBo 80 ¢R6 g®ies mol
. ©On8n 50 988 86 iy y®res mol

s a=0.3 mol

.. ©OnpEn 80 ®§c o mol / mol
. 0OEm 80 3.8 8Om0 (§° 80mw P 8)

_fﬂ_(ovs ) __06x06
Pagg) -g—;-gp 0.75 X 0.16
=§X9x 10° Pa
=14 10°Pa
=28.8x10° Pa
=288 x 10°Pa
iii) Kp = Kc. RD)™
Kp _
RT

Kc = 2.88 x 106Nm~2
~ 8314 NmK-! mol-1 X 600 K
_ % 102 3

0P 9B mol
OpBm 300 o880 ™S y®eses B O mol, 2a »®

esrecm g@rescs mol
@886 u®renc mol

.. cx@pBm mol
eOnBn 80 g H1g &®aencs mol

- 208> @8c W mol/ mol
oéoRed §o BOm P 58® g8 88xca

I m®s
0.9-2x )2
Pe’ _ (1.05-:
Kp=—75—="015%
P 1.05- X
(0.9 - 2x)*P

= (0.15+ x)(1.05- %)

Ag) = 2By
0.45 _

a

20

045-a 2a
045 -0 +20=0.45+q

=0.75
Ag) = 2B(g)
045 LX)
I
FI; X P ﬁ X P
Alg) =— 2B(g)
0.15 0.9

2a
a
0.15+a 0.9-122

SLa=x

0.15+x 0.9-2%
1.05 - x mol
0.15+x 0.9-2X
PR TS
1.05—x 1.05~
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2.88 x 10° Pa = {22 220009 - 2)
(0.15'+ x)(1.05- x)
2.88 x 10° Pa = (09 = 2P
(0.15 + x)(1.05~ x)
_288x 108 x (0.15 +x)(1.05-x) P
(0.9-2x)(0.9-2x)

P

_ 015+x  2.88x10° X (1.05-X)(1.05 +x)

Pa = (1.05~-x) (0.9-2x)2

. _ (015 +x)2 P
“f_t o=z X 2.88 x 10° Pa

1 §-{O%]

0{08w® PV =1RT ewle®ss

P = (1.05-x) 8.314 x 600 Nm™2
4317 x 103

=12 (1.05-x) x 10° Pa

Pa =22%% 12 (1.05 - x) x 10° Pa

1M1 &

P, = (0.15+x)8.314 X600 Pa
A 4157 x 10-5

= + X

A(g) ogwr PV =nRT ewied®ss

2011 New
31) i)481K,V=1dm’

2P(g) =—=2Q(g) +

=Oplomded & § BOme =1.2 x 10°Pa

0@ g®rescs mol

2opBn 890 gifc mo» P 8 efc 2x »8

588w 0> grescs mol
conpBonmbed 2 teqm g&iess mol
2OpBrmbed & @R gtiaw mol

- g = 2ng
PQ = ZPR

a
1 2x
2x

a-2x 2x

0Op@ombed & Pr= ;gg:_;r_g (¢Bdm)

eonBommded § P =%Q=£g .
Pp=12x10°Pa-2x10"-4x10
4

=6x10 Pa
ii) P(g) e3¢0 PV = nRT cwfed®ss
P _n

RT V
6 x 10*Nm~2

< [P(g)] = 8.314 Nm K~1mol~1 x481 K

6 x 10*Nm™2
L ccm——

5 x 103 ] mol~?

1.5 x 10Nm~2

Nm mol"*_3
15 mol m

Qg "—J
Q(g)] = 0.010 mol dn_,
[R(g)] =0.005 mol dm

it

o

Po=4 x 10° Pa Ress

R(g)

——
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2
iif) K¢ = L‘%ﬂlﬂzﬂ
= [001mol dm=3]? x 0.005 mol dm~3

[0.015 mol dm=3)2
= 0010 x 0,010 x 0.005

-3
mol dm
0.015 x0,015
= 0.01x 102 x5
15x 15
0.02

; - -3 -3
==—moldm™ =27 x

20 2O

Po?. Py [4><10"'Pa]z X(2 X 10*Pa)
KP_JT_P.“ :
Pp 6 X 10%Pa x 6 x 104pa
=34X4x10%x 10¢p,

3x6x104pa
=5 x10*Pa

9

Ke= Kp _ 5X10%* xNm=2
RT

4% 103 XNm mol-1
2 -3
; x10 mol m

2011 oid
32) J)

S ATe[OTHRY 8®re5cy

mol a »8 e
©0n8n» 8eo 988w w6, 5®oexcs .

2x107
mol dm™ -

2

2NOCl(g) =
2 .

=0.22 x 10?)

2N0(g) + Cl,
2 :

mol o 8 o8 ;
. ©®n8m dep B¢ g®es mo) 3

-+ OB, g0, 86 yooes mol
©®8m 8o PCl, =

}?;nm,; = ?g?(ﬁ’ B Pro=24x 10t p,
T=1Xx a

= Pragy =1x10° - (13 4 o

+24 4
=64x10°p, * W
ii) PV = 1RT gone),
P =§RT

. h
-— = —

v RT

. = 24 x10* Npy-2

5 [NO(g)] 4x103Nm mop1
=0.6 x 10 mo]
- -3

‘\\

[Clz] = g,gg; mo] gm‘i‘
[NOC]L @®)] 6.4 x 104

= tx1g5- Mol m
= 1.6 x 10 ;o] m?

28

a—-q
1.2 x 10* py

a

Q
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fclel k)] 298
PV  =nRT ewlecd®s,

_1x 105 Nm2x 1x10"3 m3

nr
=L m:); o%m ol mol @€ eeded end s
_ 80025 nyoci = 0.016
o el S.NNo T D¢, = 0.009 mol
. INocl = 0,025 mol x 84> 10¢ N = nno = 21
1x 105Nm—2 NG Clz
=0.016 mol . nno = 0.006 mol
» o = 0025 mol x 24X Nu ng,= 0.003 mol
1x 10510 Nm—2
= 0.006 mol
.. Ny, = 0.025 — [0.016 + 0.006] mol
=0.003 mol
-, oopGmmeed § [NOC(g)] = 0.016 mol dm_
w@nBamded § [NO(g)] = 0,006 mol dm"’
w0nBnmded § [Cl(g)] = 0,003 mol dm™
Ke = [NO(@]? [Cl,(g)] _ (0.006 mol dm~?)* 0.003mol dm~3
[NOCI@IZ (8.016 mol dm—3)?
Kec =42x10"moldm>
4.2x 10 _moldm
=042 mol m-
2012
33) 9) 2A(2) B(g)
2 1
0@ g®res mol a a8 058
cOntm BO0 yhfw ng greEd mol ax %
0Onln 800 ey gread mol 0.2a
20 gdded § B0 ygOreaa mol a-04a 0.2a
. OnBo ¢0LMNed § §o &g g@aeiﬁca mol 0.6a+0.2a=0.8a
mo 0.6a 0.2a
. ©0pBn gbdded g @g¢ W — e 5 =
’ 3x4x10 1x4x10°
. onpBn gotded § o8B 8O Pa . =

(§® 8Om® 4 X 10° Pa S3¢)
K, %x 4x 105 Pa

Pag) _
3, 4x105 Pax> x4x105Pa
4

Pazg)y 32 !
x 107° Pa

O |-

|

B(g)
2A(g) /: 1
N @ + D(®
2: 1 :

i)I) A(g) qao®wm g 2 mol o8 ©58.
20

Snp=ax

—

100

11x1Q*Ea‘1=1.1x10*‘r~rhﬁ

- Cwo DaOD o § g&resd = 0.2a

s nc=0.1a np =

.. §C 00pBombad widmo § A(g) @iese =a—0.4a=0.6a
J.ng = Qé‘g

———
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e ¥

I ocom wonBmmos 2A(g) —— C(g) + D(g)

Kpemes8 go B8oms 2 N
r=0.3a+0.la+0.1a+02a=0.7a
XA =‘2; XB - 3
“Pa=ZxPp Pp=>xP
Pom o0nds g0 8ome o6,

Kp = Fc6). Po(g)

Pa(g)?
leP

el

Il
17
x

2
;P

=)

5

) g 2OpEmmOed PV = pRT euled®s3,
4x10°Pax V=08a. RxT— @

90D ©0BHMOED PV = IRT cuZee:s,
PxV=0.7axRx2T——®

_8x1

= —

7x2

PB=§X7X 10° Pa

2.2 5
X=x7x10
x7x105pa 3 %! Pa

AB(g) 2V
1 mol Q8
i) VeBew ne

308t @

“OE» B8O 88 wan
€142 mol

*88 @8c

=83

. @58 mol

=®2E> 88 [ ] mol dm®

mol a %@

x x 24m=6
Ke =-‘;.vmol dm
-1—;—xmoldm‘3
x2
TV(1-x
S Kexv(l —x)=x2

1 -
7 Xe=z X

N

1 Ben dco®= o,

A(g) + B(g)
1
a a
a a
X p
X X
v v

Advanc:Ed Le,
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ii)

iii)

iv)

v)

vi)

——

600 8D e 80 g s880 =3V

= +B
8C 2030 3®Em mol AILB—%) Aj(v'g) ;g)
208 80 [ ] mol dm’ iy X X
Y Y mol2dm—* ¥ * ¥
Ke = VH‘; -
= moldm™3
Ke .

“Wasy ~EN vy

020 cdesda Ben Ke 8 qgow on® 8.
x2 yz

" (1-x)v B (1-y)3v
y =0.5 mol
x> 0.25mol
(1—x) 0.5 x 3 mol
x2 0.5

o Sy mol

L3x%-05(1-x) =0

6x*+x -1 =0

(3x — Imol) 2x + 1 mol) =0

~.3x=1mol 2x = —1 mol B ez,

1
. x==mol
3

=0,33 mol

=800 V 82 B0 Besdz g®ene 0.33 mol

=80 3V O 80 Beson g®ercs 0.5 mol

o8008 OB O 50 8bma g . . &. Bt § ;b odnBo BOmae 0180 o 00
mol g®resn D1 J OB gm8. .. 08¢ yresn DEimdon g Hess Besdzn yOresm OB
@b.

od OREHMDD g PV = nRT ewie®z,

P x 3V = 1.5 mol x R x 400K — @ (1 -0.5+0.5+0.5=ny)

ombm ©OpEmmde ©gw PV = nRT exie®sl,

1.7P x 3V =(1+z)Rx600K—®

0] 1 1.5 mol x 400
217 T @+rmx600
1.7 =1+ zmol

z = 0.7 mol

cdesdo 400K 80 600 &5 18 mg B0 Bewids uy®iemn 08 8 g, .. cdeasOs

0.8 me 80 HBSw® @8800 add 8¢ 8 g . 8 B 8 oD 988 yBRFw® me
aDexind. cdands 08 BE 80 8. O 8. 490 c¥wmEba gf) Diom gy Hevn.

cdemon 18 me 5O 0o yesndens @200 0 @1 AB(g) w0 A(g) uBubies Dy aO.
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w N
W
A Y
E-S
=

——

Clg) 2D(g) + B(g)
1 ; 2 1

6B g®iescs mol 1 - -

20p8® B0 Budme § g®ieac mol 0.2

08m ¢8O 8 wigen §Oren mol 0.4 0.2

. ©2O8m ¢DEMed & 986 y®ies mol 1-0.02 0.4 0.2

L e® 063 ol = = 2
28 g0died fmolmo {0 14 14 14

©OpEm 90eded & 4.8 BOmn P ;-x 1 x10° ;x 1x10°  -=x10°
(0B ¢0eNed 2 §o 8dma 1 x 10° Pa Rex)

Ke = Pp(g)?. Px(g) _%xms PaxZx105Pax}x 10°Pa

Pc(g) 1 x105Pa

=Ex 10'° Pa

=2.04 x 10° Pg?

ii) Kp = K¢ . RT)™ An=3-1=2

Kp _ 2.04x10% N2 m—*
S Ke = =
(RT)?  (8.314 NmK~1 mol~* x 500K)?2
20400 x 10* 2
I° m

e 2o -6 _ 2. -6
(14157)2 mo Lﬁélmﬂm

iii) 300K D)

2015

s
goS®w C 8 g®ers 1 mol Hes ¢ Besdma Cg)+= 2D((g) + D)+ B(g)
8 991 0.1 Bew ¢ OpBombed OHE Hem 0.9 0.2 0.1
(lig+v)
Pp =PJ=5x10*Pa
D(J) ¢Ows Hexn 08 8810 eonecBo 0S8 o.

Pp>. Pp
K b 1 E
P Pa

odoSed 96 D33 mol 0210 n 2O W vddBed o BOme Pr o8 o8,
PE = T X PT

PA =%XPT

1l

X
rS
()

36) i) 1) cesOo 08 we 80 wikned o8B &8 exd» b

2) D(g) ©8pbesd wiBedm a0
Ke=Pp=4x10"Pa
Ke = Kc RT)™
An=1+0-0=1

_ 4 x 105Nm~?
8.314 ] K- mol~1 x1203 K
_ 4.0x105Nm~?

10,000 Nm mol—?

- Kc=4x10' molm"3=M

32 Classified Answer



ii) D(g) £ PV =1RT ecfoos,
Pp
™ =gr
_ 7.5 x10°Nm~2 x 2.00 x 10~3 m?

8.314 Nm K™l mol-1x1203 K
75%10* X2Nm

P ————————
10000 Nm mol—1

-

5@agfgﬁecﬁﬁc 20 D10 y®Iesn X(g) g®ren
=——mol
2

». 988 X(g) 563 =0.225 — 0,075 mol

=0.15 mol
0.15 mol

Xp= 0.154+0.15 mal
-~ Xx = 3
Pp =Pr. Xp
_ 7.5%x105Pa
L e T
2
=15x10° Pa
L Px=Pp=75x%10°Pa
_ Pp?
K Px
_75x% 105Pa x 7.5 x 105Pa
7.Ssx 105Pa

=:Z!§x I!! gg
Ke=Kc (RT)™ An=2-1=1
nKe=g2

_ 7.5 X 105Pa

"~ 8314 Nm K-1mol-? x1203K
_ 75x%105Nm—2

" 10,000 Nm mol 1

=1
2

iii) I) C(s) Slew cBmzO0 om@ 80 wowen [ | Suov gows S C(s) om Kc =29 Kp
Ogiemcebis s aco@s .

) ¢80 [D] 9R0> Bex &. 61 § qmd gBFwd §¥8wd 6O 8¢ e,

216
3 C(s) + COy(g) ===2C0,(g)
1 1 : 2
i - Peo®(B)
) K@
9 C(s) + COx(g) ===2C0s(g)
1 1 : 2
2380z g9@0emcs mol X 0.15
“08n Bed gifwr mdm yOrehw a mol :L
20 98Fwr wdz H©res mol a a
©0n8n 880 tiegm uore 2a
©OnBm qotMed 2 9RG YO x-a 015-a=0.15+g
©OpBm 40e31e0 2 9B0 Digy uOrescd 0.15-a+2a =0,15+4

P\\
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PV = 0RT ecleoss

8x 10°x 2 x 10°m® = (0.15 + a) 8000 J mol™*
0.15 +a=0.2 mol
a=0.05 mol

©®8» mol (Oag)
©®38m §® gy mol

O8C oem
B BOma Pa
— 4x105 pax4x105 pa

Ky 4x105 pa

K, =K@®D-

—r =

4 x10° Nm™
8000 Nm mol-% K
K. =50molm™
=0.05 mol m"®
_ [co@}?

K. [CO2(q)]

Pv =nRT qm®,

BB

v  RT s 2

. _ 4x 15> Nm™ _

~.[CO(g)] = —B%%O o ot [CO2A(p)]
= -12— mol m®

199,19 1ol m3

= 100
- 50molm”

PSP §Orencs Nm
oo 880 BOms ¢f 89
©Ons oe¢» P oeam

m@qem 860 10 2
4 x101°(1+p)
K,=4x 10° Pa ='—105§2-—mp
2-P = (1+p) 5
2+3p-1 =0
P p =-3;|:\/9+4
p 2
=f¥=o.3
=2x10°-0.3 x 10°Pa
=|:ZX|!!SE§

iii) .. Peo, @8 @O - Peo, qoe8m 8O 218 @b,

e ——

C(s) + COxg) 2CO4(g)
0.1 0.1

0.2
1 I
2 2
1.8x10° = x10°Pa
: 2

C(s) + COz(g) == 2COy(g)
2 x 10° 2% 10°
P x 10°

2P x 10°

(2x10°-10°P) (2 x 10°+2P x 10°)

34
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2017
38) i) CO2Ag)® H20(g)oe wbnbies
©®p8mmbded § nco,= x mol

130® conmGoma md PV = nRT exle®:s),
28 tedBBeui®Bue gm0 ny,oE= X mol ed.

6 - _
. 1x 10 I;Im;xai: x 107 m’ = 2x x 8314 NmK™ mol~'x 601 K
. —=_2%10" Nm
2x 5000 Nm mol-1
=1 mol
x =0.5mol
Ny, 0(g) = &3 mol

208 gOwm, ©ddBwd PV =nRT euied®,
oBgbien ¥1801® cowcoms nd,
- ~ 1x10°Nm~2x5x103m®  1x103x5Nm

8.314 NmK~! mol-1x 601 K 5000 Nm mol-?
=1 mol

N,o < ncgzdeaaaﬂeniﬁﬁm 22310

. — 1 —
~-ME,0= ymol = 0.5 mol

ii) 2NaHCOs(s) 2Na,COs(s) + COx(g) + 1 HzO(gl)
: 1 ; :
098 Oy mol ? 05 0.5
- 2O0nBo §9 8¢ : 1
C.o0npEn ®hc mo -:- 3
8¢ 80z 1 x 10°Nm™
Rexn g8 8O } Pa %x 10° -:-x 10°

Kp = PCO: . PH:O(g)
=5x10°Pax5x10°Pa
=25x 10" Pa’
=2.5x 10" Pa’
An o — =
= An=2-0=2
ik ing 2.5 x 1011N?m~* _ 25x10'N2m™*
Kc = (8.314 NmK™! mol-1x 601 K)2 (5000)2N2m2x mol~2
=1x10*mol’ m™
2O @
Kp = PH,0(g) . PCOx(8)
wOnBn séofed Pr=PH0(g) + PCOAg) =1 % 10°Pa
Sed8Beci®Se ¢nd s
PCO, =PH,0(g) = 25 x10°Pa
~Kp=(5x10°Pa)’=25x10 _Pa

¢86a 8C g600® @d.

©mS Nep,= X mol o8 o5
iii) Sy S 4 £t 2NaHCOs(g) #Na;CO(s) +  COx(g) + H:0(g)
2 : 1 : 1 : 1

0.5 +x 0.5
d®w O5C y y
gBBee momCOz OFC OIS }

20 gBBnm > mol
y a@zefmeod 2 @556 mol 05+x-y 05-y

1+x-
m@)q;emma[')@d 2 986 80 mol 05+x-y, 05-y 4, %
80 80ms P 208 quolm Boma 1+X-2y 1+X-2y

—
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Advance,

2O0nBomided g 4PH20 = Pcoz
cHendn On® a8 Kp qowd 8C qou@a.

2.51: 10" Pa’ = 4Ry 015) - Puyo(e)

25x 10 2

5***’3 =Pl

5

;: 10° Pa =Py,000)

P y _ 5

co, ‘PHZO(S)_M

Peo, =2.5x 10’ Pa x 4
=10°Pa

203 m®cxs ‘

ond o

Pﬂzo(g)= xPa ees oH8.

Pc02= 4x Pa

Kp = PHzO(g) 5 PCO;(g) =x.4x Paz

4%’ =2.5x 10" Pa 01® cdesmtoe e
X =25x10°Pa

= Peo,g=1x10°Pa

Py,0(2)= 2.5x 10° Pa

[so

01

39) 1)a) 400K & M(C0a);aH;0(s) ——> M(CO,); (5) + nH:0(g) o,

H,0(g) o8gbies 01501® comdens me 80,
4 -2 3
~nH;0(g) _ 160X 10* Nm™2 x 0.08314 m

8.314 NmK-1 mol~1 x 400 K
= 0.4 mol

M(COs); . nH;0@8¢ g®ese = 0.1 mol
aelr=4

ond
M(CO;), . nHzo(S)TM(COB)Z(S) +nH,0(g)

1 g n
0.1 mol 0.1 x n mol
000 c¥anided § eni 8omed & Hy0(g) ubulies wes
0.1 © _ 1.60 X 10* Nm~2 X 0.08314 m® . NS cendonn we 82,
In

"~ "8.314 NmK~Ymol-1 x 400 K
n =4 mol

n___=4
b i) Imea o

Puo = v
0.4 mol x 8.314 NmK*mol~! x gop g

0.08314 m3
= X 4
1§10
4.20 X 10* Nm~2 x 0.08314 3
nr " 8314 NmK~1mol~1 x 80g K
= (.525 mol
PH;O = P'r .tzo

i——
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—

=4.2 % 10*Nm2 x 22 mol_

_ « 104 o 0.525mol
11 @
V ©iny, o Bom &8,
Pi_ Pz toon
T1 'I‘2 g@ 1)

1.6x10*Pa_ p,

400K 800K
~P  =32x10'Pa

if) Pco, = Pr—Py,0(g)
=(4.2x10*~3.2 x 10 pa
=1x ]Q4 Pa

iii) Kp = PZ¢q,
= (1 x 10° Pa)?
= 1 x 10° pa?

. P
iv) engzonco, E®rehm = ——2-¥

_ 1x10* Nm~2 x 0.08314 m3

1s;.314 NmK-1mol-1 x 800 K
gmol =0.125 mol

ewod
3.2x10*Pa_ 04

1% 104 Pa Nco,

o ncoz= 0.125
0.125
s Bewidmas § M(CO;)u®iea0 =Tmol
= 0.0625 mol
0.0625

~Bewddms § % = x 100

=62.5%

V) 0ldB0 e0nBmmbed ¢ Sen

AG=0

AG = AH - TAS e
__ 4.0 x1000 ] mol™!

AS= 800 K

=50 J mol™' K"'ews 0.05 kI mol'K™!
B8 O30 8 & 28 8= AH®/ AS°e8 88w exmwvym.

vi) i) oloBewz’ COx(g) 9o 8&e.
i) cdeantos 18 B8e.

2) qu8m eSRBHINO

1980

40) NHjs(aq) %9 HCl(aq) epm®@womed § an@wom Scidnd ne guin ctwsed g (®mmp
cesed 8 NH4Cl(aq) ©0 H,0 104, 8o own Sedn 665 de 80edeme 8
NH,Cl(ag) + H,0 <=>— H'(aq) + CI'(aq) + NH4OH esred.
" @dsed [H'(aq)] > [OH (aq)]

?'-__
esuru book 3-J ‘ 37




Advanced Ley,

. ©0n0d pOEmE. 188 &dved 2 pH swewms gl ¢tamas endd o gnd I
or ¢ pH 2ty 3.1- 4.4 Hen 000 gp@roma oem Me. or 5668

H,C;0(aq) 0 NaOH(aq) g0 gpn@mmed ¢ gzim cfwsed § NayC04(aq) @0 H,0(
104, & Rex gn@om dednd ne I e Bbedeme @b.

Na;C;04(aq) + 2H,0(/) +=2— H,C,04(aq) +2Na*(aq) + 20H (aq) esred.

¢ Ben Sdned g8 [OH (aq)] > [H'(aq))

< QR dednd ne Sne VBN, Wl ®wsed & pH sthews ¢if ¢Yama:
emich ©m g3=p8. phenolphthalein oc pH ocise 8'4-10 ooes B2 nbst 0®@ gp@ion:
g0 ph ¢Ynma geed.

V-l 2‘}| HCI(V)

Na;CO; + HCI — NaHCOQs(aq) + NaCl

Na;CO,; + 2H,0 =—2Na' +20H + H,CO,

< ©08 01¥Ime.

S PH = 12 08«5 8.

NaHCO3(aq) + H20<==>— Na+ + OH- + H2CO3

S D008 0188,

oedd® HCO3 <===— H'(aq) + CO%~

06z (B33 P®B>8. .. Na,CO; 0 o) NaHCO;(aq) 4:98=8. .. pH 2 8.2 &8.
phenolphthalein 8¢ pH =6 8.3 — 10

me. or j, pH odess 3.1 -44.4

- N2;CO3, HCl g:3®i0m0 ph tiama ¢§ 80 91802 HCl gevess 03 me. or ¢Bazme
08ed 6@ eqpesus.

-~ 0§ ep@omed § pH aces 10.1 -8.2 noe o, - ph g¢ea8.

NaZCO;gaq) + 2HCl(aq) — 2NaCl(aq) + CO, + H0()8ex &0p 00888, .-, PH oo 4
o0& 9.
.. pHodes 5 -3 00 8.

.. me. or g36538.

ii) ph (boms #18 80 58§wd eoxin® mncwlest Na,CO, 05 OO,
. HCI : Na;CO;

1 1

. [N2,C03] = 7= x 2= x 1000 mol dm’

=0.05 mol dm"®
Me. or ¢Yama ey 80 83 Na;CO; eqws 5100m HCl o8- = 25.00
. Na,CO; 8108 HCl u8&:® = 12.5 cm®

o o qumced o, 8. 1 (1 @D,
[NaHCO;(aq)] = 0.05 mol dm™

38 Classified Answers



M

33/13% X 0 & 08®m ¢0cw HX o8 o8y,
D ¥ 1x(s) + NaOH(aq) — NaX(aq) + H,0(g)
I 1

HX =M 8 HX g®esc =222 mol .
NaOH y@seac = 1—(:)'53 x 25 mol
NaOH = HX &£60:88ewi®8ws 1: 1 »®,
0335 _ 0.1
L —==—x25
M 1000

M =335%x40= M
ii) §¢ NaOH @8c g®iea0® HX 3.685 g e® B} B3 cOBm® W a®co ®@ned

ano.
HX(aq) = H'(aq) + X (aq)
NaX (aq) = Na*(aq) + X (aq)
K, = [H*(a9)] [X'(aq))

[HX(aq)]

&osed [X] NaX 0823 greads [X ] ece o o018 .
K, = [H*(aq)] [NaX(aq)]

[HX(aq)] [ ]
o
lg Ka=1g [H'(aq)] + Ig [Z@z]
&
~lgKa=-lg [H'(aq)] - Ig L[‘;g—j;]]
OU)]
- pKa=pH - 1g
p P [[CF©G]]
cO®»
~pH= +1
pH=pK.+1g [eoc)
HX(aq) + NaOH(ag) — NaX(aq) + Hj(g)
1 ; 1 : 1 |
3.685 0.1
¢8 g®res mol = Too5 > 25 o
ergz) 9®ren mol . Toos % 25
3685 0.1 _ 01
S B8 u®ies mol(-lg ~ To00 X 25 ) 1000 25
(0.0275 - 0.0025) - 0.0025
3
8o 8 B ©88® tozs0 25.00 cm - 0.0025
[ ]mol dm™ % 1000 1 0.1
. [co=)]
[20c]
pH = pK 'HEIQ_I - pKa=4.19 B
o 3.19 *—:PKa— 1 Kn=1.55 x 107" mol
o3 n®wazs

@0x 40eded & adc dmm'amoz 35.685
8C 90ded 2 g8 BB =55

‘. 8C odmed & 0 10 geind (B g9Co e »8F cwln dxfes 0.335g

(NaOH e8:3)
Ltneem che n@ems 0053 10 g a8 880 qm.
. pH=pK, +1g 10”’
)
CSuypy, book 37 19
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Advanced [ ¢y,

——

b) i) AgB(s) e===—2A"(aq) + B*(aq)
1 3 2 S |
25°C, A;B(s) ¢aO18m00c x mol dm™ 29,
[A'@]=2x  [B*(ag)] =x
Kse =[A'@)T" [B* (aq)]
=(2x)°.x =4x
501 x=2 x 10~ mol dm™
2 Ksp=4 x (2 x 107 mol dm™)*
=32 x lg-ls !3 i -9
ii) ACl(aq) - A+aq) + Cl (aq)
1 A | |

A2B(s) <-=-—-—2A*(z{q) +B¥(aq)

0B KRt 0828 crean [A'(ag)] gmes &8 #B: AB(s) cean [A'(aq)]
emNCSe viS o.

A2B(s) , 25°C, 0.20 mol dm™, ACl(aq) e €308m0 y mol dm™
[A*(ag)] = 2y + 0.2) mol dm™

(B*(aq)] = y mol dm®

Y 93 0 goos a8, [A*(ac!‘)] = 0.20 mol dm

Ksp = (0.2 mol dm™)? y mol dm™

32x10°=4x 102 moP dm® x y

8x 10 moldm> =y

.. 500 cm® DC 08 ¢1O8mbe =

2
_ 8x10713 mol 500 cm?®
EqB 8 201590 = 500 et ]

=!x lg—l3 ]]l

iii) 11 moesDed 2 4 mooxtert Ksp qoc gm® af S* e8.
H,S(aq) <===—2H"(aq) + S*(aq)
g0®8m ®dzwm & [H'(ag)] omost ©:8 @88 &. 1. § am® [S(aq)] 8.
- Ksp g0 g8 S* vowms | eb.
I moeded 2 | om S¥, K g00 credsen 28 0. 8 (IV) o medboed &
NH,4Cl, NH40H Smrp 56 am.
NH,OH(aq) «=>— NHZ (aq) + OH (aq)
H2S(aq) <=2 2H'(aq) + $*(aq)
280 @&ned 18,

OH (aq) + H'(aq) ==>— H;0(/) 0¢8. & Bexn @dned 8 H' | o6, . H,S o¢
quBimcen aBa 18 .

~[8* (] T
- Ksp #0a 518 S 4 eo.
(IV) megDed L 02 S¥ B¢ Ksp oo snedised 58 o,

43) (NH,4):S804(aq) + 2H;0 ===>—2NH,OH + 2H"(aq) + SO3~(aq)
. @aved H'(aq) go.
. Zn(s) + 2H' — Zn*'(aq) + Ha(g) T
[~} {cietap) oc ZnSOlb HZ, NH3
Zn(s) + (NH4)ZSO4(aq) — ZnS04(aq) + H, + 2NH,4

8 x 10~13 mol

—
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Chemistry Essay
——
1982

Ei) 0.3 mol dm>, HaS04(aq) 1 dm’ 78 H3804 8¢ 43w =0.3 mol x 98 g mol™
=294¢g
Bo odnbeaeas’® HyS04(aq) Seso ada» 58890 = 2948 _ {57cm’
1.87gcm—3

.. &0, HaS04, 15.7 cm’ 0z w0 H;0 (1000 - 15.7 cm’) = 984.3 cm® oo 000 .
H;S04, 15.70 cm’ 8og® 1828 50828 w0 Deod Own me gm @
[eOwm . H;804, B¢2 dean ¢®® Bane D¢ gBBeIOs Be See0 esozsde HaSO4
onn e grd]
ii)
& 8¢ (aq)

e deewsd 0.2 mol dm™,
NaOH(aq) 25.00 cm®
BB=® ®dind ¢®c (HCl(aq) socieos o Syecdgbd ¢& guexsiz Dmenzd 0.2
mol dm~, NaOH(ag) 25.00 cm’ Beodgolsl &> ¢& &0 gy (Yemom ¢
(Phenolphathalene ew3 Methyl Orange) ¢® gm@omo 6 guin cEBs0 S1dD ©B823
HCl(aq) + NaOH(aq) —»
S00:88exi®B8w 1: 1 Ben [NaOH(aq)] eesda w1 .
ili) 2NaOH(aq) + HoSO4(aq) ——> Na,;S04(aq) + H>O())
2 : 1

- -3, _30 3
¢8 NaOH(aq) g®resw = 00.3 mol dnl1 X —— dm
- gdms HyS04(aq) g®srencs 41 mol
[NaOH : H,50, ] [Se0:88exi®fa 2 : 1 Se)
02 _ 30 1000
..q0en O H,50, (aq) o88® = —— >; ~ mol x —— cm’
=10cm”

iv)(iil) 2e0188ewi®Rn d®nden gmd s1egm NaS0s u®iesw

= B2 dm® x L
= (0.2 mol dm xmoodm x> (e 8)

Na;SOs(aq) + BaCly(aq) ——> BaSO4(s) L + 2 NaCl,
1 ; 1 - 1 : 2
0.2 30 03
¢8 9®re5 mol mx?m"w

Na,S0y4(aq) ac.;de@ BaCly(aq) =®0 odgbeaens’ gB88wr md BaSO,(s) 4
BaSO4(s) s=====> Ba’'(aq) + SO5 (aq)

Somatdt Oz 1S Tz g®rehcs = X mol dm™

YenBBewi®Bn o [Ba’*(aq)] = [SO§~(ag)] = x mol dm™

x'=9.9 x 10™"! mol dm™

. X=v9,9 x 10-mol?dm~¢ V9.9 x 10-1T
=9.95 x 10 mol dm™ =Vo9°x 10-12
89 cibes w600 = 50.00 cm’ o =995 x 10
350
" 50 cm’, Ba* g@sess = 9.95 x 10 mol dm™ x ==
=497 x 107" mol
30 cm’, Ba?* et =4.97 x 107" mol x 137 g mol™
=6815x107 g
Peg
Ury b()ok 3-1 a1
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Advanced Ley,,

45) HCO3 / wd® e®n yBSw 8. . ¢®cuS.
HCOj3 (aq) + OH (aq) — CO%~ + H,0 ; AH = ()
(Mogwm 88 BimeencS)

HCO3 / 480G 0o 88w n68. .. vudes.

HCO3 (aq) + H'(aq) - H,0 + CO, 1
(gDben Doy BOBE RBmernsB.)

1983

—_—

46)
gns cum (Sedn OREomDH 18 ©b.

¢S@wm gD%ed & mol ]
0B8R0 Besdms Ox mol, a =8 ©5g.
2O0nBn ¢deddied & ©re¢> mol

®Em 308 edE R ®8c
8®ced [ ]| cmol dm™ Sess

OB ©etdOE e3¢ e moldm™ ]‘
= [H*@9)l[A"(aq)] _ac-aa  ca?

. [HA(aq)] T0-w)c 1-a
A 9 280 oo Hess 1 —q 21 &8,
- Ka=ca?

e®uwd De3DED mymTens Buda 8 Be&.

ii) H2SO4(aq) — H'(aq) + HSO; (aq)
~.[H'(ag)] + HSO3 (ag) = 0.1 mol dm™

08 gDedND

©@pEm8®d o mol 1
(1-oa)e

Besdms 0 »® 80 [ ] mol dm™

[H*(aq)][S0% (aq)]
Ka =" nsoz]
12 x 10 mol dm™* = 288 _ Qradac
o @m0 50 [esy, 1 - £ 1
l+afx1
c=0.1 mol dm™ Seso
12% 102 mol dm™>=0.1 x o
a=12x10"
LSEY=A+a)c
=(1+12x 10“g 0.1 mol dm™?
=0.112 mol dm™

S Ke=ac

e ——

a)i) HA »® ghoc 8 widdn ¢®ced guBlwden § qum ® Bedmns e §dces

HA(aq) «==— H'(aq) + A" (aq)

o
o o

(300:88ewi®Bv gmd)
l-a o o

(1-a) ac oc

HS0;(aq) «==—H'(aq) + S02-
1 1

1
(1+a) oc

HSOj ¢boe 4®cux Ben 0823 cream (H" eNNCBw 018 .

. [H']1=0.1 mol dm™

13 o Ol o]

RIOEO npwien Hwuds erde®:,
Ka = co? o @ 2plo ¢,

1.2 x 102 mol dm™ = 0.1 mol dm™ o2
V12 x 107%2=¢

35x10"=a, a=0.35

42
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Chemistry Essay

—
~[HT =035x%0.1 mo] dm™
=0.035 mol dm™
S~ [HT  =0.1+0.035mo] dm™
= -3
_.ﬁ—*-_

b)i) 9@ gH=mda mP guin cesed & PH 002e38® 6.5 80 10 ¢80 ob. 00823 gxim

cafened & pH g0w dc 80edeman Ses, 008 30 evess. (pH odiesw 8.3 — 10).
~ 9®co gboe 9®cus By Qm .

ii) 000 nWM™D grey Homed PH ot 6.5 - 10 gm0 8o (8. Ged® e®® pH
o0 RE S0 OYen Bobagescs 8¢ me @gn . phenolphthalein ©c pH soee
8.3 - 10 g6 &8 008 42®0m% wgws phenolphthalein gyggy .

iii) [ ] ooe ac 98¢ ws 93¢ v¥OO: am@omed & pH oo 10 - 3 0@es gmd @O.
PH 06050 3 - 10 qm6 92 obeg Bolicess e®n gnd 8¢ wom Bon® canos 00®
INVODG B gey  ©O, methyl orange ©c pH odws (3 - 5) end

phenolphathalene &c pH esdsescs § ~ 10 gm0 02 983 @00 gzmEroma Bco OO
Gam o¢m® gen &. '

47) Nacde dced ¢ glbies goBndess of,
Na;PO4(aq) — 3Na'(aq) + PO3~(aq)
P03~ / H;0 0800 som qum06wed 988w 48,
P03~ (aq) + 3H,0()) ==2—H;3P04(aq) + 30H™ ewxd

PO3~(aq) + H;0 (/)x===—HPO2~ + OH"
< @ned [OH (aq)] 18 Sexn ©018®mcs.

1984
4) i) 25°C 2 dced ®¢ Paons? s Benm Bbedicrum womids ¢ 08 quemOC
088> msic o pBnas.
ii) Be8m cBeasoom 2 0.1 mol dm™, NaOH(aq) e Ca(OH); ¢ tomacts aq engIens
93 ¢ Bo ag =3 25.00 m® Bewdgeds @wz» 0.1 mol dm™, HCI 83edogod enm
HCl(aq) =®0 qn@wmma n6 am8n cfens sudema (vi) cm? 07 Ced.

) _01Vymm _ 1000 3_ 01V, mol dm™>
~. [OH (ag)] =~Toas X g5 dm”=—

*. Ca(OH), 882 cr@e@ [OH (aq)] = = V; — 0.1 mol dm™
= x mol dm™
Ca(OH),(s) +=*— Ca’*(aq) + 20H (aq)
- [Ca*(ag)] = mol dm™
Ksp = [Ca¥*(aq)] [orr(aqn:
= §mol dm™ x (o_:sv_) mol? dm™
;x (0'71:—-)2 mol® dm™

20 et

Sdbn ~odemmOmm 2 Ca(OH);(s) esomedd 3aq = 2g eo» 953 25.00 cm? Sesdgenss
®12 ©0d 0.1 mol dm™, HCl(aq) 25.00 cm” ¢ g8Fwd qbesss § oy g c¥enDunD
o838 oy &ud phenolphthalein ¢bemo ¢® qbbes aq eddes o101 OMEPS 59666980
©=f 0.1 mol dm™, NaOH(aq) =00 ¢n®0me n08. guin cmess cidima V oo,

[

p
“Uru book 3.7 43
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Advanced Leyey
- g0@n § NaOH g@encs =% x V mol
2. ¢8 HCl g@sescs =%‘;5 x 25
0.1 0.1 =
~. Ca(OH); 883 c1@eq OH (aq) &®resc ey % 25 - 2500 ¥ Vmol =x mol
00 T B 18 =8@00 =25.00 "
-+ [OH (aq)] = % x 1000 mol dm™ = y mol dm™
- [Ca**(aq)] =Z mol dm™
on o¥ndems 5250,
Ko =y x %mol3 dm™
1986
49) 1) O2¢® @osom T egledimars [H'] ems g w1 (O g®¢ ©b.
HA ->H"+ A-
B21® ®0sawm & H glovme mostest ol .
B+H — BH'

ii) 28, wd® Pen o 40c cwi O wd® e, Panos $08n ®dsed & o
Obesws ¢, 0d®nm ©0ned & 2O Obesws ¢ 980 8. g:®98n dbews 1RO
cosiDm 8@ pH gowvsd widds Bbesa 51§80 eoxiom 0@ pH qowsl gmd pH
g0 ¢Bamam pH odies 8.

¢4 : phenolphthalein & 4:98z Bencs gobes O god 1B DY:® o ©O. ©8 pH
©dieses 8.3 - 10 gmc 8.

50) i) 84 A/L 46) - i) o Buo a1

ii)0® T = & 0.1 mol dm™, 0.05 mol dm™, 0.01 mol dm™, NaOH(aq) e Ca(OH), oc
somadm aq ezl eom 8o aq 58=3 25.00 cm’ B com 6O ceOm™® e @iox
SmPEO ¢® ©wd phenolphthalein ¢bomo ¢® cdm 0Om® Fgecogpd o 0.1
mold m™, 0.05 mol dm™, 0.01 mol dm™, HCl ©823 gm®ssexs mc a3 cEde C0dem V),
V2, V3 05 (31@3.

ii)HCI((aq) + OH (aq) — H;0 + Cl"(aq)
- © go [OH (ag)] = == x 32 x 1000 = a mol dm™

-. Ca(OH); 8853 c1@es [OH]=a-0.1 mol dm™ !
Ca(OH);(s) <==— Ca’*(aq) + 20H (aq)
1 s 1 1

a-0.1

». [Ca**(aq)] ==~ mol dm™
- Ksp = [Ca**(aq)] [OH (a@)]*
= (3—29—1) a’ mol® dm™

@28 g6 [OH]= o x 22 1000 = b mol dm™

+ b-0.05
o [Ca¥(aQ)) =———

-0.05

= (2209
® 82 go [OH-] =0 x ‘2’—; x 1000 = ¢ mol dm™
. Ca(OH), 823 ci@e5 [OH(aq)] = ¢ — 0.01 mol dm™
. [Ca**(ag)] === mol dm

c-0.01

- Kep= ( = ) ¢? mol dm™
0® Kspgoows$ 3 @ @i »® Ca(OH); Ksp goo cuensd on® 80 on® gows of.
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stry Essay
ﬂ1) KHCOs(aq) — K'(ag) + HCO3 (aq)

o808 @250 HRAC FOCHBH LdFuun ¢§ Bo vo guen mc Gvens gos B8O
HCO3 a8 a6 HCO3(aq) + H'(aq) <==— H,CO5(aq) oce ©wonenzd @05 @b
H'(aq) 02008 &didden «. (emd CO, + H,0 wieds)

peed® ®0ned gac OH (aq) Boguws ¢g 8o v guma ms 9o 8600 H'(aq) g
OH (aq) + H'(aq) “==— H,0()) oces @005 gom o0, . OH oned® &icsiens.
HS0;(aq) “==—H'(aq) + SO (aq)

sco @ped gafindas Om B 6wd gadc OH dodsws ¢§ 80 gome 0
0300 H'(aq) 18 gno

H'(aq) + OH (aq) <===— Hy0()) oce @dsevesl gbs 0. .. ®c ©d® onedd
#0Sed.

»fS 0O DrBED H' ¢§ 80 oo goee ©d 9o 8800 gumos . - 49C
ened8 BDidenns emed.

geodﬁ@mmﬁ D00 gdc vEL 40 emed® Eoicun Bo g 8.

200

gomes (SO0 Sedn wOnpBombund gondd mOs ©eRBomdas 88n wl Bo
g 8.

H' + HSO; (aq) €«———H;S04(aq) eb.
o0 gAC gdcus Hewn, cO8E gumond g Dtest mnm.

2) (80 A/L, 38) 0@ 8@ gdnus. »@s udme 988ss 296 g1 It edmed «.)
e®® gmdwmed € arin cSused 8 an@iwm Scisnd ne NHil(aq) eed.

8x NHil(aq) + H,O(/) == NH4OH(aq) + H'(aq) + I (aq) ece bc DDedema 8.
;. ®osed [H']>[OH]
S @0na 988,

Phenolphthalein ©c pH s6ieses 8.3 — 10 (9188m) Besr c@® gm@aszsd phenolphthalein

Hey o>,
1988
%2) a) BiySys} <= 2Bi*(aq) + 35 (aq)
1 : 2 = 3

- 0nEmm Buwdo ewle®ss
Ke= [Bi** (aq)) 52~ (aq))?
[BizS3(s)) 9 rede 3
- Kex [BirSa(ss] 181 (a@))’ [S7(ag)] ,
98 T 2 K¢ gow « w3e [BixS)] emws Bea Ke [BizSi(s)] @fne Sones.
< 00 Homa Kgp eoce ovg 8O,
Ksp = [Bi**(aq)]? [S? (aq)]® «®.

. 2754273 4277
b) i) J@ecsd. mdros ==

cm® =275 cm®

- 275
. tomatm aq od 8 8o [OH (ag)] = 0.1 mol dm™ x === dm® x 2222 gy

55 11 s 1000 25.00

=0.11 mo

*. Ca(OH), 88 ci@e® [OH (aq)] = § [OH'] - [NaOH 083 cieg OHT)
=0.11 - 0.10 mol dm"
=0.01 mol dm™

Ca(OH), 52— Ca®'(aq) + 20H (2q)

. 0.01 -3
Hei88ewi®Bw amo, [Ca® (aq)] = £ mp} din

Esu'u bOok 3_1

~
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Advanced |

Kse = [Ca*(aq)] [OH (aq)]? .
=0.005 mol dm™ x (0.11 mol dm™) ;
=5x107x 1.1x10" x 1.1 x 10"  mol® dm™

ii) Mg(OH)y(s)<==>— Mg**(aq) + 20H (aq)
1 ; 1 = 2
09 cdmded & m.pdd dew me Mg(OH): ¢ ¢i®smdws X mol dm™ =8,
Mg*(aq)] = x - [OH (aq)] = 2x mol dm™
*. Ksp = [Mg*'(aq)] [OH™ (aq)]?
= x(2x)~
=4x* =32 % 10 mol® dm™
X =2x 10 mol dm™*
~.[OH" (aq)] = 4 x 10~ mol dm™
OH (aq) + H'(aq) — H,0(/)
1 : 1

. = 25 3
. OH gom 25.00 cm® 8 meses =4 x 10~ mol dm T dm
- 4 000 cm?®
s H 8 =4 x |07 x 25 mol x 2220 cm”
05 mol
C4x25x107%
- .5 I
_ Ax230x107* o

e = ot = R cm’
=l et oEEs woes € 0.02 cm’ 7 5 v,

¢) CH;COONH(aq) > NHj(ag) + CH: 00 (1)
CH;COO0 ™ (aq) + H,O(/) <==>— CH3COOH(ag) + OH ¢ aq)
NH{ (aq) + H20(/) c--=__ NH; + H;0%(aq)

(s> NH,OH +H"
CH;COOH(aq) 8 Ka 2 NH; 8 K,

. @00ed @18 [OH (aq)] £ H'(aq)
S @ ¢¢Bma.
. GO9S emed8 cqBim ¢8.

50 o6 padme ginbond,

1989
3) SrSO4(s) «===—Sr""(aq) + SO~ (aq)
Oudnd cdeasOom & SrS040¢ | dm? co®nmBe x mol dm™
[Sr*(aq)] =x, [SOZ™(aq)] = X 300G 8e=iS e o,
Ksp = [Sr*'(aq)] [SO3™ (aq)]

=X

x=0.202 g dm* = £22EIMZ_ 6,001 1 g -3
- Ksp=0.0011 x 0.0011 mol? dm™
=1.21 x 10 mol® dm™®

StCly(aq) — Sr**(aq) + 2CI™(aq)

] 1 : 2
0.121 mol dm™
+[SP"(aq)] = 1.21 x 107" mol dm™ emaBewis
e®@® aq g S1504 OE 1OBmIDs y mol dm™ &
[S**(aq)] = 1.21 x 10 mol dm™ +y
283 1.21 x 107 © enedduws Y om0 goas. |

Bw gno,

. B0 eCEBG oS .
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o el
" »

h
C//f
(s (@] =121 % 10™' mol dm™
-@Q] =y mol dm™
- 1,21 X 10-] mol dm‘3 Xy= 1.21 x 10-6 m012 dm_6
_@155_10‘5 mol dm”

54) 1) 20ED PERCG Buls oCe ¢ 000 v gsled. Lhbe dnwwds gdco HA =8 0BG
HA(aq) <=>— H(ag) + A"(ad)
PRl 230e3ed & mol 1 : . _I. - -1—
20p8m 500 Brdmn Oz mol, a8 o5 o -
- OB gdtded € ere¢m mol _ o a
on8n dtdcied § 950 mol 1-o o o
sonBn gbedded & €3053¢ €5
¢ mol dm™ Seso [ ] mol dm™ 1
K,= [H*(ag)][A~(29)]
[HA (aq)]

_ ac. ac

B (1-a)c
cboc ad®c ©g®r o @™ 2071 HPrBAB.
sl-al

- Ka= 2

ii)pH = 3.4
- -lg[H'(ag)] =34
Ig[H'(aq)) =-34=4.6
- [H'(ag)] = 3.98 x 107 mol dm™
- ac=3.981 x 10~ mol dm™~

_3981x 10~* mol dm~3

0.01 mol d2m‘3

=3981x 10"
S K,= (3.981 x 107 x 1072 mol dm™

= 1.585 x 10~ mol dm™

20 mews
[H'(ag)] = ac
[H'(aq)]® = o’c’
=okc.c
=K, ¢
~ By = [H*(a@)}*
c
(3.981 x 10~* mol dm~3)%
- 10~2mol dm~3

~ 1.585 x 10~ mol dm’

1990
—_—
. OH~ (NaOH/ KOH
%) a) i) 1) gac a®c (HCV H};oé@glﬁ) e0e ZAC (N ) ce8mmden
Ot dBa How §Od . e BC 6O soc Do BOma Acesiedisiy

2) NaCl/ KCl &3 ea0@d®© ;gm &9
Dz aowd O8I 9P Bac &= b moHe ACIEED oSty B gowEd B

3) NaCl KCl &8 esoode 88w &°

om0 Bmac BO.
4) NaCl KCl &5 et B8RS @Sj;‘ge i
5) NaCl/ KCl &8 moouiode 380 ¢

eowed D& 08 Be.

7

1eCisinp OB qoed DO gm0 gf) @O.
B BOme Acremedinln O

P
Uru book 3.7



Advanced Leye]

i) NiS  <==—Ni*(aq) + $>"(aq)
NiS | £16129800 830 g cw8® [S2(aq)] ?
[S*"(aq)] [Ni**(ag)] =3 x 107® mol? dm™S

. ra2- _ 3x1072%mol? dm~6
*+ [$7(aq)] 6 %X 10~2mol dm—3

=5x 10" mol dm™
. 83a g [H'(aq)]
[H'(aq)]* [S*(aq)] = 125 x 210‘236mol3 dm™
. 1.25 x 102 12dm-
- [H'(ag)) = = m'i‘f.,. =

- [H'(aq)]* = V25 X 10-% mol2 dm-©

= 5 x 10 mo] dm™
b)i) BBwed Oages

8o ®ned T @aned egledimwn qum mowert wBSwd e®ces. H
gBgume noest gB8Rwe wEOLS,

B2:® @dvom 2 ®08wO egledinun um moes! ©utdd adces.
eyiedimnaes yBgwmn wosiess @330 wE®-S.

(@®x 1986 A/L 47) - i) O Bwo am.)

PBH0E H140d O e@teddd Oucw aes Oxlesd giBSoed Oigw SBw ®108wd
o0 O g0 eFTE0E Dige B2n® S1dswmd BOA.

i) HNOs(aq) + KOH(aq) - KNOs(aq) + H,0())
1 : 1 : 1 : 1
¢S o1& mol x %% I'x 'E%%?
HeD188exi®8wn 1:1 Bew
49.95 49.95
o880 I y®1es mol R 1x e
" 98855 5®se5 mol 1x (S&%{;g'i)-w
9808 O y®1es o B ¢S 8@ =100 cm
1 X0.1 mol
. @88 [HNO;(aq)] =i
mdm 5
=107 mol dm™
S pH=3
25°C, Kw =1 x 10" mol? dm™
pH + pOH = 14
288 O

[H'(aq)] = 10~ mol dm™

. [H"(aq)] [OH (a@)] = 1 x 10 *mol® dm™

~. [OH (aq)] =1x 10" mol dm™
©0uD : @@ D MCQ HE» OHOE G,

¢) C gecegid ooy NHiCl(aq) Be¢nst 80edime me 80 gqromifewzsd Cl(g) ¢

memdOens? Hy(g) 8O 0. .. tegm S8w ¢dess NHy/ NHOH @d. .. c0® &8ac
c0esecd NHy/ NHLOH ws NH4Cl(aq) g1.
000 E8v §10€ud gAC ¢PCHBT n y@rsmus Omn e 80 oo NH; o823 (OH
eus’) ¢68m 8. . pH qgoed cdmes 8¢ ened,
@000 YaC wYPRS no gamos ¢§ B du cel» 8600 NH; (ag) (NHCl ¢
aB) qom» ¢ god NHy/ NH4OH (quBndeics gudynlies) ®dsews gl . .. pH
ool cOmers 8¢ ened.
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istry Lssay

—

Sp.
)

i) MXo(s) === M*"(ag) + 5

2ecriedds oSgome ndslest cB ¢9cos. gecsedin
€ : NH, B wdenS. 2NH:+H' —» NH}

S3(s) ;
As2S3(s 2As +( + 392-
1 : . 2 ) - . 3(aq)
= A5 @) [s2(aqyp?
Ke [As;S509)] ]
“ Ke % [As:85(s)] = [As3+(aq)] [S%
( 3
cEHmSED O 80, 07 [ASJS3(S)iacg]m
Ke X [AsSy(5)] ¢ Someg, DI @b,
oo Ksp @cm3 BCBe oS o,
- Kop = [As™(aq)]? [§-(aq)pp

; X (aq)
dced ¢bnmib.s 0.02 mo] czim‘-"
- [M*(aQ)] = 0.02 mol dm3
[X"(aq)] = 0.04 mo] dm™
Ks = [M™(aq)] [X"(aq)p?
=0.02 x (0.04)% mo® gr*
=3.2x 10 moP® 4m®
KX(aql) - K'(aq) + X (aq)
: 1 .
-3
?1\:1%9: a:)n; :S;S?) dﬁg MX, o¢ $O898 X mol dm »H®,
[X"(aq)] = 2x + 2 mol dm?
X om0 i oo Seso
[X"(ag)] =2 mol dm™
*+ X x (2 mol dm™) = 3.2 x 10~ mol? g
X=0.8 x 10° mol dm™

=8x 10~ mol dm?

Yon ndsles B LU IORT S

Bbsc AICL g8 g@ces.  AlCl + CI AIC;
HCl(ag) + NaOH(ag) — NaCl(aq) + H,0())

8 5®es mol ;5155 x 49.95 ﬁ x 50.05
Hen88e0wi®Bx 1: 1 Seso 1 1
988w DE 5®ren mol ]» e, 49.95 s 49 95
22 1
e 983 g@o‘!ﬁﬁ mol - m x 0.1
%3 80 & B 8890 cm’ 49.95 + 50.05 = 100.00
' = ——x 0.1 mol x === dm™®
- NaOH(aq) gyems [OHT] = Topg * -1 molx g
=107 mol dm™

.'.POH = 3
250C§ pH+ P0H= 14

“pH=11
Tineg

H

@
IOH[I;(*aQ)] x [H'(aq)] = 10" mol® dm™

l(aq)] = 10" mol dm™
=11

080 gtz 1990 A/L 53) - b) &0 a1

book 37— 49




_Advanceq | g

¢) NaOOC - (CHy); - COOH(ag) - N&"+ (3)+ O'(ad )*%* (CHa)s - E- o
0 0

] f
O -C- (CH2)3 ~-C- O'(aq) + H"(aq)

" 008 ®apwd gac H' doguw ¢§ 83 v gﬁgwﬁw’ =d E¢8m 8800

O (0]
i I a8 god
O -C-(CH;;-C-OH i '
0 (o) 0., + 9
I ] I 0
—(CH); - C-OH

O - C - (CH,); - C - OH(aq) + H+aq)=—=HO-C
200 o B ovens @os md8. .. 60 H' oqw ddmencs 8. e®co OF
oo ¢§ 80 du gome nd 48 800 H'(aq) @18 o0,

H'(aq) + OH (aq) = H,0(/) o® gumdwd Hy0 e0¢®3 @dnecs 9ol oo, .. Of
ened8 ¢ &8HicSenor .
1991
A ¢®) 201258 §und

57) a) 89580 Smoesd PbCly(s) (i) dnxtaws enm 00d dew 250.00 cm
Sgencs OB oS somdy sBo gPemos cd com 25°C 0 88C m0 w» edwo

edybmens cad Sun dnsides Omnpd Bucs tmida W, @& 0.
o ﬁmgeg PbCl; & toda=w; — w2

.. 9®esc = ;‘;;:2 = x mol
2

©@®x 250cm’ 8o § g®resc PbCl, Beo.

1 dm’® g § @ = 4x mol = a mol

PbCly(s)x=== — Pb**(aq) + 2CI (aq)
1 3 1 S |

~.[Pb* (ag)] =a mol dm™ [CI (ag)] = 2a mol dm™>

~Ksp = [Pb” (ag)] = [CI (a@))” = 42’ mol’ dm™®

b)i) 89 AL 51)—a)i)Oc wo 83 AL 43) —a) o BE€mot B 1o,
ii) [H'(agQ)] = -
Ka

=Cca
+ 1.8 x 10 mol dm™ = 0.05 mol dm™ x o?

180
a2 '—'—-5-— X 10_4

o =36x107*
a =6x107
-, [H(ag)]= 6 x 0.05 x 107> mol dm’
=3 x 10~ mol dm™
[H+ (aq)] [OH | (ag)] =1 x 107" mol® dm™® (25°C 8)

_ 1%10"* mol? dm~6
[OH—(BQ)] T 3x10-3mol dm-3
=0.3333 x 10~ mol dm?

= 2 ii g !!!-12 mgl gl_]}_J

o mewts
Ka =Co?

(a@Q)] = aC _ ;
= 1.8 x 107 x 0.05 (mol dm™)? .
() =3 x 10~ mol dm’

50 - — Classifi




stry Essay
emls”y
e

é,g)%a) 1990A/L 53) b) ii) ©®8 Beciow o8,

NaOH(aq) + HCl(aq) — NaCl(aq) + H20(/)

1 : 1 i 1
€5 mol 0.1x50.5 0.1 x 49.55
QIQ g@a 0 000
Qggwg C §®ies mol O.J.lx%(‘)).% 0.{:«49.95
00
| o T tow
§¢58 gﬂiaeﬁ mo x 0.1 _

1000
o0 83 & ¢ ©8&® cm’ 49.95 + 50.05 cm® = 100 cm®

- 988 [NaOH(aq)] =35 x 2L 5 1000 o) goy®

1000
=10"* mol dm™3 =>pOH=4
25°C pH + pOH =14 |
pH =10

b)i) a®c w¥e Bamaox R 6A¢ ePcum 0wl (A wEOLS.

ii) O 2®B® Sdnwm & Ot Db § D8 @dred & O Obow:s ¢ B @ .
Phenclphathane £:®8m @00 & atbes 8.
0882 Swm & edles 00 ©,
iii) 2@ T 00 Hes Bobicies 8¢80 yulen ¢De30zd Fog@®d .
iv) Semomd pH odiesos D, 00 @B Olesm o080 eoxldy =u8® PH goc:s
00882 Obmcs o100 ecuxidm 408 PH qouost gm0 esciescs 8. . ‘
e50c 8¢ cbmmens 058, ¢ Hin o6,
Hin (ag) ==='— H" (aq) In
- (H*@®) (In~(aqg))
Kin - (HIn)
(H'(ag)) = Kin x 0l

[In-]
. (HIn) > In (10 g@nos %) Uonmed 908> OYescs cred.
[I'n] > [HIn] 10 =8 aned wddn dbao ced.

~pH =pKIn + | ¢Y@em pH aciess @8,
HI
U5Gr' @)  =lgkn+1g il
] [HIn]
~1g (H') =-lgKn-Ig [in-]
~. pH =pKn-Ig %-:—?]] Hex) gm0
9 i) AQCrO4(s) === 7Aq%(aq) + CrO3- (aq)
1: 2 ¢ 1
Kc = 49" @)?[croz-(ag)]

: [Aa:Cro, ] 2 g
"Ke [AqaCroy(s)] = [Aq"(@a)]? [Cr0F~(aq)] x
CYEOs B® 80 Kc gow o®si@ [quCr04l(s)] (-zﬂmqmﬁ, M
8o Bomaes o8, -, K [Aq2 CrO4(s)] BomeS. 8w Ksp eces onf 8o, -
Xsp = [Aq"(aq)}? [Cr0F~(aq)] i 1

" BipSi(s) ==t
& q}& CYemstoed 2 Bi;S3(s) 8 ¢OrmO X mol dm™ 2@,
[Bzi_ (@]  =2x mol dm™
[.S (aq) = 3x mol dm™
Lot P =B g [S™(aq)]?

X 1078 ol dm15 = 4x% 27x* mol® dm™*

B,
M

if)

2Bi3+(aq) + 3SZ(a Q

i
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__ Advanced Leve]

=108x> mol’® dm™*

'S = W mol dm™

SX =1x 10" mol dm™

~ 1000 dm™ e 2ubm govesc =1x 107" mol

1000 dm™ pe Euom dmsfos =1 x 107" mol x 514 g mol™’

=514x 107"
iif)BizS3(aq) 20 eazde HNO; 48w omry g o me 80 S - S03(aq) 200 OBmCese
@B 080 280 oqoBed g8 [S* (aq)] 480> @02 BirS: 8 goBmcen ¢rpesd A00 8¢
. 880 [Bi**(aq)] &8 ¢0.

60) a) i) CH3COOH(aq) + H,0 = H;0"(aq) + CH3CO0™(aq)
I = L : 1
CH3;COONa(aq) - CH;COO™(aq) + Na(aq)
CH3COONa dced 2 elygbons qudndes o S @ned [CH3COO (ag)]
om0 OB @. .. ©dsed [CH;COO(aq)]CH;COONa 6828 cream [CH;COO™
()] eces ©m w8 . ..[CH;COO0(ag)] = [CH;COONa] o6.
[CH3;COONa] vz [com] 9.

K, = [CH3C00~(aq)] [H30*(aq)
[CH3COOH(aq)]

o [c, Dm]
[H3 (aq)] ] K.
.- X [ ]
1g [H3O " (aq)] +1g _[__Icsmh Ig K,

~1g [H:0*(aq)] - Ig %g_zj]: -1gK,

~.pH=pKa+lg [com]
ic:@cl
ii) 1981 A/L grno Sbedas 40) i) 008 yE»we® eOms D883 gesn g,
CH;COOH(aq) +NaOH(aq) —» CH3COONa(aq) + H,0()

1: I |
0.1

48 u®se5 mol mx 101 Iﬁ x 1
0.1
g8 8§ e H®res mol Tooo < | epraall! (d@aaaoﬁl@m&@ﬁc: f3519)
01042 §®r€5 mol 1—3({—0 x 1
. @88 u®ies '{'O'EX 10 — “Hoe & 1
P86 gOes 8 8 S 880 cm’ 102
. g6 regximx 1000 - 2L, 1440,
- 980 ?ma ec ] 1000 102 1000 102
mol dm”™
01 -3
CD”)] _ 1330 }gg — x 1000 mo: :m-3
2®c] 1095 *1gz %1000 mol dm
=107
H =pKa+1g HGD”’
P p. S
2398  =pKa+lg107
4.398 =pKa
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y ESSay
i

afjammﬂf =22
(l?— COOH

R
- R0 LY
W H H

n

n 2 10000
.. @®wd NH2 reddos ¥ COOH miedbas am. 9o 0o g®read

@8 50 00 gome &S cbm 8600 NH; m¥ivs guw. .. 48C ©T BocSem @d.

c000 gac OH 823 &ddvax (8 80 du gome w6 c¢8m B8RO COOH e300
- OH e ¢ dDidfem eb. /. e@u €hisum §wmid ¢S08.

83 gac adcos

e
AS,S54(s)
1

25°C & 2As>(aq) + 587 (aq)
2 : 5
gOBmda X mol dm™> =8,
(As*(ag)] = 2x mol dm™*, [S*(aq)] = 5x mol dm™
Ke =(As" (@) ($"(a@)
= (2x mol dm™)* (5x mol dm™)’
= 12500 x” mol’” dm !
) i) NaOH(aq) — Na'(aq) + OH (aq)
Ca(OH),(s) ==— Ca**(aq) + 20H (aq)

e® Ben &dsed g3 §o [OH (aq)] = NaOH 68=3 ci@< [OH (aq)] + Ca(OH).
o8=3 ci@es [OH (aq)].

H'(aq) + OH (aq) — H,0()
L 1
: =02
. gda»s § H'(aq) @i = 000 x 15 mol
3 =
25¢cm” 88 OH (aq) g®ieo = 1900 x 155 mol 3
[OH (aq)] =g N ga B 1000 mol dm
=0.120 mol dm™
-, Ca(OH); 83 c1@< [OH (ag)] = 0.120 — 0.1 mol dm?
= 0.02 mol dm’
=, [Ca**(aq)] =0.01 mol dm’ .
- Ksp = [Ca’*(aq)] [OH (aq)]

— 0.01 mol dm™ x (0.12 mol dm™)?
= 1.44 x 10~* mol® dm™®
ii) Zn(OH)y(s) + 20H (aq) = Zn0% (ag) + 2H,0()) Bes
Zn(OH)y(s) coogd @8z NaOH oc g gum oeeion e¢8. . NaOH me g
Zn(OH)y(s) ==— Zn?*(aq) + 20H oz =@nEommde ¢ROsIess .

<. Ksp = [Zn%*(aq)] [01-1*(21q_)]2 ece oud®d NaOH ne T exmwm.
© RNH,(aq) + H;O() = RNHZ (aq) + OH (aq)
1 ; 1 3 1
6B gbeded & g@es mol 1 -

SOnBm BED Bedms Hm gesns mol o o8 aB.
T e¢m 5@es mol

o a
(HenBBeci®Bue q1o)
2028 qbeed E @B6 goes mol  1-a a @
* ©OnEn gdeded 2 []2 mol dm”
Sess mol dm™ (1-a) 2a 2a
\
Pes"‘"u book 3. 7
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Advanced Leve]

_ [RNH$(ag)][0H"(aq)] _ 2a. 2a mol? dm~5
Ky = [RNH2(aq)] B (1-0)2 moldm—3
O @m0 89 3038 Oz B 1 —o L 1
. _ 2a.mol dm~2 x 2¢ mol dm™3
Ky = 2 mol dm3 3
=2a’ mol dm™ =8 x 10 mol dm
~al =4x10"

Lo =2x1072
.. [OH(ag)] =4 x 1072 mol dm™
= 1g [OH (aq)] =0.6029 - 2
R [OI-l‘(aq)(] =2-0.6029
P =130
25°C pH + pOH =14
PR = 12.60 end
[OH (aq)]= =4 x 102 mol dm™
) 1x10~1* mol2 dm~*
o [I-F(aq)] = 4 x10~2 mol dm=3
=0.25 x 107*? mol dm™>
-, 1g [OH"(aqg)] =-1.3979-12
-1g [H'(aq)) =1.3979 + 12
= 12,60

1995

—_—

62),.a) 1991 A/L 55) - a) , PbCl, 00 000 gdmnad B8nd; 8w gm.
© Hy0,250.00 cm® eom, 0wd ension (m1) @08 Pbl; (=M) ¢80 @023 mems o
Oa 25°C Oy B ot 88w giemcs Q) 088, guioy edes ©8gYamens

eod Hum Hnsldas Om pd; Bucy Bmstds (m2) & .

7 §o § Pbl edmsiae =m-mpg
- o § Pbl; g@reno = ml;;mz mol
®® Hes [Pbly(aq)] =T 22 mol dm™ = x mol dm™

Pbly(s) <==>— Pb*(aq) + 2I(aq)
[Pb*(ag)]  =x, [I'(aq)] = 2x mol dm™>
Ksp = [Pb"(aq)] I (@q)*
- Kep =4x" mol” dm™
b)i) CaCly(aq) - Ca**(aq) + 2Cl(aq)
1 : 1 1

0.005 mol dm™
~. [CI"(a@)] = 0.01 mol dm™
0.005 mol dm™ , CaCly(aq) e AgCl e £008m5c x mol dm™
'AgCI(s) «===— Ag*(ag) + CI"
1 ; 1 |
- [Ag'(a@)] =x
[CI'(ag)] = =x+0.01 mol dm™
X @ 2807 g Hes,
0.01 +x = 0.01 mol dm™
.. [Ag’(aq)] [CI (aq)] =Ksp = 1.44 x 107'% mo}? dm¢
. x % 107 mol dm™ =1.44 x 107" mol? dm™
- x=1.44 x 10™® mol dm™
- 500 cm’ g0 ess B2 AgCl B¢ Smstdnm = 1.44 x 10 x

% x mol x 143.5 g mo] ™!
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D

0 Sod ichloroethanoate 8ced & guBncescs e,

cl- & _ é ~ 0-Na~(aq) — Na+(aq) + CHCL,COO (aq)

&9@:’6"30 goBmOGS Oz 3B AgCl Oc 18 gomws 8 e evig gomes
D CHC]ZCOONa aq = pe AgCl oc ¢osmdes seed? © 0@ @d.
AgCl(S) Ag (aq) + Cl (aq)
1 :
. oo e AgCloe goé)nszmé)cs X 38,
[Ag *(aq)] = [CI'(aq)] = x mol dm™
Ksp = [Ag (aCD] [Cl (aq)]
= x* mol® dm =1.44 x 107" mol® dm™®
~ x=12x10" mol dm™
~ 10 dm’ e AgCl Oc gOvmdn = 1.2 x 107 x 10 mol = 1,2 x 10~ mol
i) lm@s
eBomos Hin o8 08§,
Hln(aq) «===—H"(aq) + In"(aq)
k.= [H*(aq)][In~(aq)]
A [Hin (aq)]
[HIn]

- [H'(ag)] =K, [m[_ ] |
— o HIn(ag)
- . In” (@)l
lg[H]=-1g K * 18 51n ag)
pH — pK i lg [In~(aq)]

[HIn (aq)g &
QOB 0001 mol dm™, HiIn(aq) 20.00 cm’® eom ©3@ 0.001 mol dm™, NaOH(aq)

10.00 cm® c@x cre®. ©80, [Hin] = [In"(aq)]

.. pH=pK, .

@8 SCw g ewmed pH gon pH 806wl @fie v, pH=pK, 5.
I-L':n} =

0.001 mol dm™>, HIn(aq) =8 5.

Hin(aq) +===— H'(aq) + In"(aq)
1 : 1 ; 1

8100w ol & ydies mol 1 - =
cO58m B0 Brdme Oz yeires mol v} = -
cSOnBomde.. ¢ g®es mol ~ o a
m©52@mm3uu< L5 ._,u.)_m mol l-a 5 o —;x
5OREmmebE 95 (B0ednec) mol dm” (1-0)107¢ ax10c ax10?c
o?c?
(1-w)c
as<<w]Be, Lkl
; K = L(J
[H ag)] -
[HﬂaCD] = otzc2 = Ka.C
~-[Haq)] = \/K c

lg [(H"aq)] == lg K, + Ig c
“lelH"aq)] = 2 [-lg ] Slge
H“PK ——x( 3) c—0001 Ses
PKa 2pH - 3. pH g (aq) pH SodaBs S O V.

Ka=

PE"u

ry onk 37

-

55




Advanced [ ¢y,

2813 298 T
— [In~
§8z® pH =pK, + lgf*::n—((i;%))]iaadcﬁm ne 38 N
(In"(ag)] _ 7] 1
eman Obe Sulmecs 1) iG] 10 o0 e T O 80 a.
* [In"] = 10[HIn) w3 [In"}= 0.1 [HIn] ®.
pK.t 1 @,

Feno gdmens Sctanns com w¥dn Obme =@ o0 IO Jogd @B
om o6 pH gow pK, + | 0050 nos 00150 Sienund ¢O8m b eenyg,
38cu Jogd :B3 Sy w98, 080 pH qows O ©B. 8o pK, -1 @8, - 0o ecend
0@ pK, b,
ii) 1989 A/L 51)-ii) 0 8o .
K, = ca? Damiosis ©d gim.
2 9% 10™° mol dm™ = 10 mol dm™ o
ok = 2% 10~5
10

=3 x -3
~[H7=3x102mol dm™
s 1g [H=2.4771 =-1.5229
<. —lg [H = 1.5229
pH =1.5229
- pH+pOH=14 25°C
pOH = 12 4771
203 ews
[H'(ag)] =3 x 10 mol dm™

. [OH (aq)] = 1 % 10~14mo)2 dm~*¢

3 x10~2mol dm—3
=3.333 x 10" mol dm™
-~ 1g [OH (aq)] = 13.5224
—lg [OH (aq)] = 13 — 0.5224

1996
63) a) NaOH(aq) + HCl(aq) ——> NaCl(aq) + H,O0()
1 | 3 1 S

<8 o 25 cm’

HCl ¢§ g®iess  =—==x 50 mol
0.05 1000

.. [NaOH(aq)] =g o0 7 mol dm™

= (0.1 mol dm
NaOH(aq) —> Na'(aq) + OH‘gaq)
1 : 1 '

CaOH(s) <= Ca*(a0) + 20Hag)
1 g :

. @dned §& [OH]=0.1 mol dn;: + Ca(OH), 68xf cr1082 [OH (ag)]
adan § HCl g®rescs = 0.05 x Tmi I(I)l;)l
- §0 [OH (aQ)] =—= x 65 x = mol dm™

1000 25 3
=0.13 mol dm™
. Ca(OH), 883 c1@e IOPF(ag)j =0.13 - 0.1 mol dm™ = 0,03 mo] dm™
.. deB8eui®Ba qmP [2Ca (aq)] = 0.015 mol dm™
. Kep = [Ca*"(a@)] [OH (aq)] N
=0.015 mol dm™ x (0.13 mol dm™)
—4 -3

=2.535x 10" mol dm_

——"
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L’kemfff'y Lol
l) @mazﬂlw- @55
Y g Mg(OH)2 @0 m8 good 3823 Mg(OH), o ewmdn (ag) = HCl @
@rems DO B0 g5 cfesed sidems gm 200 .

VizOH):(s) <==—Mg"'(aq) + 20H
", womscl> Mg(OH)z(aq) [OH™(aq)]

3(1012 E
——* 2 mol dm™

=1 . 2=126x 10 mol dm™®
1.686 : mo

-~ OH (ag) + H' (aq)—
1 :

1
0.05 - —4 i
= xvi= 1.26 ><310 oy
s vi= 0.0636 cm
.. NaOH gz:®wome 91edz HCl =80 o8 Mg(OH); tomidn &ccs D1 O HC1
188100 @1 @B.

ii) 2.
AI(OH)s(s) + NaOH(aq) — NaAlO; + 2H,0 sz qomacd NaOH e AI(OH)(s) & @®.
- AI(OH)3(s) <===—AI’*(aq) + 30H (aq) e2»068.
2. Ksp 08600800 ce38i o0 .
o) i) RCOOH(aq)<===— RCOO (aq) + H'(g)
1 : 1 I |

wd@un O 1

e9End®0 Bwodmn Oz mol o - -
2®pBm 20dGed € sie¢m mol - o a
o0p8m qoded & @88 mol l-a o o
©058m ded & 86 [ ] mol dm™ (1-a).1 0.1a 0.la

8¢ [H'] = HCl creas [H'] + gboc e®cens cieds [H]

HClog enzdeesc = 1 mol dm™ Beso

[H'(ag)] = 1 mol dm™

S[H]=1+0.1a

K, = [H*(aq)] [RCOO~(aq)]

[RCOOH(aq)]
2x10°° -3 _ (1+0.1a)0.1a
= mol i (1-a)x0.1

0920 29 £30.251028 Bexa 1 —a = 1 8.
2x10°° mol dm_3 — (1+0.1a)0.1a

0.1
Cl+01a0
“2x107° mol dm™ = la
Ta=2x 10—5
@ %=2X107 100 =2 x 10° = 0.002

Y= 1401 x 2 x 10° mol dm”
=1
tPH=0
i 2°C. DOH = 14 [+ 25°C pK,, = 14 Sexo]
)[HCI] =1 mo] dm™
Hag) <
. 222’ 141+ 25°C pK,, = 14 Sex]
) Ga
Sqor 2 ehmens .
;):;01 dm3, HCl(gaq) [H'(aq)] &8 @183 8. o1 § 972 RCOOH ¢ goBmceic moss 28 ™
* RCOOH B8 cream [H'] et CBo vl o.

)
esu
n‘b\
G0k 3.1 57 ——n




Advanced ey,

1997
65)1)

66)1)

e

YZ3§S)-:=“—Y3+(aq) +3Z(aq)
: 1 : 3
[Z"(aq) = C mol dm™
~. [Y**(aq) = C/3 mol dm™
- [¥*@o](z-@P
[YZ3 (s)]
* Ke % [YZa(s)] = [Y*' (aq)] [Z (aq)]’
ome T & 2 Kc 00230 [YZ3(s)] eomas S [ ] ¢ & Boo goom 6.
~ K [YZs(s)] g @me Sopas. da Ksp a8 o 80,
" Kep = [Y”(aq)] [Z (ag))®
== mol dm™ x C* mol® dm™

e mol* dm™
5__—._

25°C & Y(MnOy)s(s) csomcds &8s cobecars enngoowzs 923 25.00 cm’ Bewdgeds ex
qg@acm S0 ¢& owd mam HyS04(aq) 0w ¢ ¢@ Jgec0gd0 @ x mol
dm3, Na,C;04(aq) 8823 odfes oo qdbm O» e g¢R@oma md axin cfes
cscbaomca 07 c1ed. (V). »Bo® gecdged o Fe’*(aq) y mol dm> ¢® gobe o
e gn®ome 08, axin cen LIdme V o8 058.
16H" + 2MnOj3 (aq) + 5C,0% (aq) — 10CO;(g) + 2Mn**(aq) + 8H,O

2 - : 5

. [MnO%(aq)] = 1;(? x Vp x : x % mol dm™ = a mol dm™ e

8H' + 5Fe2+(aq) + MnOj; (aq) — 3Fe*(ag) + Mn**(aq) + H20())

[(MnOg(aq)] = 100 xVax= X ﬂ mol dm™ = a mol dm™
Y(Mn04)3(s) S Y(laq) + 3]‘;[1104 (aq)

[Y-"+(aq)] =2 mol dm™

Ksp= rY’*(aq)] [MnO; (aQ)l’
—-s;moldm x [a mol dm™}?

4+
a =
=?mol4 dm™?

1983 A/L 44) —a) i) ©c Bwo g>.
@)d&)bd&b mgmdeﬁ Bavewsd, K, = ca’

[H' (@)’ =

2.5x%107° moldm ?=0.16 mol dm™ x o =2.5x 10" x 0.16 mol dm™
21550 10° = =0.4 x 107 mol* dm™

i_:_ 8 104=a2 ~ [H] = V4 x 10~®molZ dm~2
EXIO-Z_G- =2x 10~ mol dm™

- [H'(ag)] = ac = 1.25 x 107 x 0. 16moldn-! 3= 0.2 x 102 mol dm>
~1g [H'(ag)] = 3.3010
lg [H’(aq)] =2.699

1
Q—%‘K’W [I—l*(aq)] [OH™ (aq)] =1x 10" mol®> dm™
1 x 10~1% mol? dm

[OHT ag)] = 2x 10‘3mol dm-~ 3
=0.5 x 107" mol dm™

—12 -3
=5x10" mol dm™

—
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| M
l,‘ltﬁ ) xz\’s(s)-e&}——;’._\"\' "(nq) + SY""'(nq)
ol 9! oopSom Buds euwleds,
Xt @] Y )
T [XaYs()]
i) G“’;’tﬂm"“3 Soo Ke Soned. 080 (X2Y5(s)] ¢ Somoas. .. K.‘-[X:Yﬁ(ﬁ)" Qo &
SaoasS. oo Ksp oge owgd.
- Kse= X (@)L Y (aq)]
jii) M(OH)a(s) +==— M;"(aq) +30H (aq)
1 H 2 1

pH =9.301
- 1g [H:0"(ag)] =-9.301 =T10.6990
. [H:0"(aq)] =5x 10" mol dm™

_ 1x10""mol?dm~¢

[OH_(aq)] 5x 10710 mol dm—3
=2x 10" mol dm™
~M*@ag]  =3x10"mol dm™

Kse  =[M"(aq)] [OH (ag)]’
= % x 10~ mol dm™ x (2 x 107* mol dm™)y

16 g
=—x10 2 mol* dm™

= 5.33 x 10 mol* dm™"
o0 O
pH =9.301
. 25°C = pH + pOH = 14 Sesa pOH = 4.6990
. —1g[OH (aq)] = 4.6990
lg [OH (aq)] =5.3010
[OH (aq)] =2 x 10~ mol dm™

* 80 ¢86a oemme e uiS o
b)i) 1 mol dm™, HCl(aq) e¢ @5, 68 pH = 0 8. wddnt) emdgdce o B88rmes S

15 oo &6 1 — - - 15 00 edad m6 @ obmses mcwed 1 mol dm™, HCl(aq)
9 cm® c@8. e pH qoc 0 8. gziog @ obmses mo=d 1 mol dm™, HCI(aq) 1 cm’
o9 B88¢ g dcw 9 om’ @8, 80 &8 pH=1 eO.
@dc? o® (aq) =3 1 cm’ O @ obmees z;)ecama ¢® 0O ¢ 888g g Sco
9 cm’ ¢§ 8o ¢@ [HCl(aq)] = 0.01 mol dm™ &8z pH e 2 8. glogd 98 (aq)
1 cm® com @ B ofmuse »Ead 8685 ag dco 9 cm” ¢§ 5O 8 [HCl(aq)] =
10 mol dm™. .. pH goc 3. @3 ¢ 1 cm’ 8_?'58 FGUD See 9 cm’ 200 ® O
oBmen »HE0O (8. 080 [HCl(ag)] = 107 mol dm™. .. pH = 4. gzlog 6 O
& ®Eod & gudensi® »E 80 pH = 5. 9ufeg 7 0 obmwean meEwd o

i m 3
' \\‘\,;%adecaﬁ@ me 80 pH = 6. g8 1 cm” 905 238, 8 O oBmwes mcwd B888g

1) cm’ c@8. . pH=T.

r;mocégcc:a?@ 1 rflol dm'?, NaOH(aq) egeon @zl 9.00 cm’ ©bmses »eE 15 o

¢®8. 8 [OH] = 1 mol dm™, 25°C pH = 14 a. @5!::399 8w G gom 14 © 1 mol

dm™>, NaOH(ag) 1 cm® ©® 8685 gou 8cp 9 cm <68, 880 NaOH(ag) = 0.1 mol

A3 Beso 66 pH = 13. goiog 0@ (ag) 1 om0 8585 qog 60 9.00 em’ e
] =107 mol dm™. .. pH = 12, oy 0o

BDE go» 13 80 o8 [NaOH(a0) |
Qo <8 O oBmwes »C 12 & 8¢ g 80 o8 [OH_(aq)] =

3
tgent 1 cm® wo e 9 om 1 ‘
10° mol dmn, pH = 11, 60 aq 25 1 o’ © 868 st 800 9 om’ SSemes e
7 10 mol dm™ Besa pH = 10. guzmadecaess pH =9

qozd 11 8 & so ¢8 [OH-] =
g 8g me H goo 8 wlmsen BC QoW 9 & geom @t | cm? -

csmﬁ F=2) oZD 10 ' p
9B, ey B0z o800 B0 me g ¢ 9FEn ¥ mnos coebeo

p
ey
“ubook 3.7 59
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Advanced Leye|

Bamewst Fogd eqm N8z ¢@ ewls 8y nd8. :@8m dbamw LMIEd evsios
¢co8® pH gows 0@ bbesn ci@B0 eosiom ¢0® pH quws! @88 emaw,
on 018 . 9@ pH goust e¢m emo vdee ¢Pamed pH odiess eb.

205 1@
Homews! D 8808 eom Gwd mam HCl(aq) ewsd 8¢ B 00 o8z
omp 97 Cred. HYeis edmed O 80 HCI ¢80 »Homn &8au g0emed pH ¢ow pH
B00uBx O oS, (PH 208 ¢ wibn nd) & qumided ndd 08 (Bomews
emdes eom §C gomIcwd mmm NaOH &80 gdmens’ dogd &8s mendss
on S Obern edmed O 80 NaOH omn 880 mOm ©© pH qon §C gimicad
O ©8. 0®® pH gowws’ gmd pH odies cbemed pH oo ob.

25302 @
gomed  g0ercs g1 eom ©O8 bben obmed Om oy HCl(aq) ews
NaOH(aq) 8oy Omewszl omnp =08, 8wd Ora g HCl 58890 @1» ev» @ cbow

c0enewd 06000 HCl 088100 0808 % 3 ¢@8. griog 68 pH gos & 0f.

PH =pKj e8. ¢bamed pH odesc pKit 1 @b
i) AT
(92c 4®c wm gac wd® @B c8m» @drsed & dbem Bobwmew:s ¢Lom
¢bomws ¢ban @8:)
B-Q
(93¢ ¢8¢ gboc ®wue Rewn adn cden pH ocissw 488> 31823 #®8» ®idned
& PH odiese 1B Bamas? dmn a(823)
C—>P
EBOc 98¢ gac OH Bwm guim cxused PH gqoo ©0d@xn Hen ©088m pH
ohees g1 Genes enid o g Seo)
D - =
EBOc a8 gboc wd® gm@ivmed ¢ el culess pH oomvmos w38 Seso)
1997 (A/L) m.c.q. (23) e@® gamewnsl emdem ao.

68) i) HCOOCH,CH,COONa(aq) —» Na+(aq) + HOOC - CH,CH,COO(aq)
HOOCCH; - CH; - COO (aq) =====—00C — CH,CH, - COO(aq) + H'(aq)
e®w0 gAc ¢fcud Eodveld ¢§ Bo o QOB WO cBm BB

COO HOOCH;CH,;COO™ &8 qno HOOCH,CH,COOH 204823 @Dvevst 9o »IA. a®c
enedd tDiciSemmnlS,

@000 gac wdteBx dodown ¢ B0 dv gueis nd cels 860 H (aq) &8 amd H,0
ece vews’ 9O A8, ©vde emed8 ¢ BITEEna,

ii) protein ©c0 NH, mregrs g, & Bemn 000 gae OcuBsl dodoes ¢8 80 NH;
Do 885 oo guwmo =m0 celm» =08, .. pH goed obows 8 ezed.
S @9c onedS &HoioSens.
protein 6c0 COOH moedors ¢ g, 0823 @anwd H' cro8. G OB BoEues
¢ 80 du gomo S ¢z 8600 (COOH miedtes N8B NB) H+ e @88 pH
qoed ebnes 8g exxed. . vEe emedB Bictuna,

1999
69)a) i) NHs(aq) + H;O(/) <====—NH] (ag) + OH (aq)
. v - [NH}@@q)] [0H"(ag)]
-~ Ko = e .
NHZ (aq) + H;0(/) === H3;0"(aq) + NHj(aq)
[H30*(aq)] [NH3(aq)]

K,= [[Nﬂf(aq)]] :

_ [NHZ(aq)] [OH" (aq)] [H30*(aq)] [NH;(aq)]
Ko K= Nim@ar ¥ [Nio)

= [H;0"(ag)] [OH (a@)] =K,
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ii) HA(Q) + }‘{20(1) «===—H30"(aq) + A (aq) sl

HA(aQ)<="—H (aq) + A(aq)

_ [H30% (@)l [A”(aq)] [HO* (aq)] [A~
o Ka [HA(aq)] eod  K,= [HA(aq)] =i
HA(aq) ws===z- H'@ag) + A(aq)
1 1 1

2@ 80eded® & mol 1 _ _
sonpBm 880 u8BFwo 5z mol , a8 05g.
ponBo gde3ed § ereem mol - o o
wonBs gdtited § 9880 mol |- q o o
wonBm ¢0e3%® [ ] mol dm™
s g2edd® [ ] ¢ Beso (1 -o) ac ac

A - ca x ac

- Ka (1- a)c

_ ca?
1-a

o em O goes New a<<<<]

Ll-afx1e8.

- Ko=ca?

9 x 10~ mol dm™ = o x 10™' mol dm™

9% 1078 = o

Loa=3x10"

- [H'(aq)] = [H30"(aq)] = 3 x 10 x 10™" mol dm™’

K‘V
v IOH]= ey {+ Ky = [H'(aq)] [OH (aq)] Sexo}

_ 1x10-14 mol?dm™®
3 x 1075 mol dm~3

=13.333 x 10"' mol dm™?

b) 25°C, FeX; e tsomdm B8w genus engeom 953 ciBo gidemenz’ 25.00 cm’ e
& x mol dm™ H/ KMnOy dyecdgdd evm Fe’'(aq) am@wm Seitdndmd ¢®o eso.
H;PO, edo@mns am@ins Scisndd (@ gdbea (Dens 330 @ edies =10 Dmmpoy
B3 S guim CEBBBS LIMeme 07 cred. (V cm®)

5Fe*(aq) + MnOj + 8H" — Mn**(aq) + 4H.0(/) + 5Fe’’(aq)
5 o1
.. [Fe**(aq)] = %6 XVXx5x }%;2 mol dm™ = a mol dm™
FeXy(s) =====—— Fe’'(aq) + 2X (aq)
1 : 1 . 2
" [X"(ag)] = 2a mol dm”’ , *
*- Ksp = [Fe*"(aq)] [X (aq)]
= (2a)2. a mol’ dm"
= 4a’ mol’ dm”’
2038 B
8¢ gumiceo 25°C FeXa(ag) B¢ wemude 380 ob&os tipeom =3 25.00 cm?
G®m  SEdndmd @ Owd diphynylamine 2 T HiPOy e0Ruwn= & ¢®
Bgec0q00 4:8@m KyCr207(aq) (®r&m) X mol dm™ ¢® gdbes e e S
¢® Doy am@iomE WO §TID @zj@i 299013 ©7) Cred. (v))
14H" + Cr,02- + 6Fe?’ — 6Fe” +2Cr" + TH00)
1 : 6
1000 -3 _ -3
: * foindated dm™ = a mol dm
5 [F62 (aq)] = E;‘0—(‘)- XV x36 x 75 mol dm
- [X"(aq)] = 2a mol dm”

* gm®, Kep =42’ mol’ dm”

S
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Advanced Ley,,

2000
70) 27°C 2
0.5 mol dm™,
HA(aq) H,0 HA(aq) <§=>— H'(aq) + A*(aq)
100’ P 1
50cm’ s ”/
B HA

i) pH=-Ig[H'aq)]
=4

[H*(alq)]=1Auﬁmmm-_»’l
if) HA(aq) H*(aq)+A(aq)

[H*(aq)] (A~ (aq)]
[HA(aq)]
1x 107 mol dm™ = 1X 10™*mol dm~3 x1 x 10~% mol dm=?
[HA(aq)]

*+ [HA(aq)] = 1 x 10" mol dm
iii) aq déded guRndese 8 HA g®rencs r,;r.m z:aé)a Bt des evvecn 80
30®wed T 48w sded 8 HA g@®renc = — 5 X 100 mol

©0p8nmded 83 HA goses = ;"m x 100 mol

B a6ed cnﬂ HA 8Os\ =—=x 100 --"L « 100 mol

) 1000 1000 3 1000
-~ [HA]s = =30@0 =2 105 01] x —=mol dm

iv) Kp = [HAG)

[HA(aq)]
_ 0.8moldm™3
" 0.1moldm-3
= § . , \\
_ [H*(aq)] ,
V) B0 gess = m
_ 107* mol dm~3
"~ "0.1 mol dm-3
71) i) Ag:CrO4(s)<=>—2Ag"(aq) + Cr03~(aq)
Ke= [Ag*(aq)] [CrOF™(aq)]
[Ag2Cr04(s)]

0@ T » § [Ag:Cr04(s)] Bom gons O and 280
" Ke [AgZCrO4(s)] Bumesd. 6o Kep w18 o 80,
Ksp = [Ag+(ag)]* [CrO3~(aq)]
ii) 30°C, Ag,CrOs ¢ go01m09c X mol dm™ 9,
[Ag (aq)] = 2x mol dm™
[CrOZ ~(aq)] = mol dm” *
Kgp = 4x° =4x 107" m;aﬁ dm™®
. =1X

Ke ¢ Son eonS,
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,Mmisﬂy Essay -
7 AgNOAED Ag (aq) * NOs(aq)
i y .
0.2 1mol dm™ 0.2 mol dm™
i & 30°C wom Ag2CrC3)4 &®encs y mol dm™ %8,
Ag*(aq)] =(0.2 + ymol dm"
[ c<<<0.2 e
!¢ (a)] = 02 mol dm”
= (0.2 mol dm™)? y

i KSPAgZCrO,q, 9
4 x 1072 mol’ dm™” = 0.04 mol’ dm™® y
—10"° mol dm™
Ag,CrOs ¢ ©88m tmidw =332 g mol™

.. 0.2 mol dm™ AgNOs(aq), 500s (::m’ ne 2adx Ag,Cr0; O tmwsidw
=107 x == mol x 332g mol™' = 1.66 x 10~ g

H,SO4(aq) + 2CH;COONa ——> 2CH3;COOH + NazSOa

| 2 ; 2

¢ u®rencd mol E%Tzo- x 50 % x 50
- 88w o CH;COONa gooescs = 1—‘{% x 50 x 2 mol

0.8 0.4
.. @88 &z CH3;COONa g®oenes = 000 % 50 - T 50 mol

= ;‘% x 50 mol

@® SHess CH;COOH ¢boc g®cws e

0.2

y®aemco =roin ¥ 50 x 2 mol

.. ®@dved CH;COONa ®m CH3;COOH wz e¢n® g1». 00 Sgens cbbc g®co= » &b
gaC vEPeS 0o yBFm Bed credm Bgmrs. 00D g SDroem

3) 1) AgX(s)e=—=>— Ag'(aq) + X (aq)
1 = 1 1
*- Ksp, gy = [Ag"(aq)] [X (2]
1% 107" mol® dm™® = [Ag (aq)] [X (a)] .
[X"(aq)] = 0.01 mol dm™ = 107 mol dm"
"~ AgX ece gdledo B0 gdes [Ag (aq)]
_1x 10~1% mol? dm~—¢
10~2 moldm™—3
=1 x 10~° mol dm™
Ang(S) == _Ap*(aq) + Y (a@)
: 1 B |
[Y-(a(U] =102 mol dm™
& KSpAgY =1x 10-—18 molz dm—6
“ AgY oces qordods 800 qoms [Ag'(aq)]

[Ag'(aq)) < lx1070moldm™_ ;. 10 moldm>

10~-2 moldm™3

- AgY gR2t godedde ob. 3
i . s _
) Agx eCce gbrdede O 80 [Ag (aq)] = 10~° mol dm

8o [Y_(aq)] _1x107'8 mol2dm™% _ _l_ﬁ_llrl.o_mﬂl-dmf

10-% mol dm~3

oz 50 am®iom Stined o8O® eOmed emies

3l a (Y & OEELOZW D qlﬁ)

i % 980 cudenstdn ebmens

—
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. _ [co (a )] "
74) i) K¢ = ——[ng(g‘;] K=

ii) A) [CO(g)] ee:B®
PV =nRT .

[HCO3 (aq)][{H* (aq)]
[CO2(g)]

. By B

¥ m; 98840 Nm™2

. 2 m

-~ [CO8)] = G N kT mor 300K
=200 mol m™

=0.2 mol dm™

— _[CO2(aq)]
B) 0.9 0.2 mol dm™3

[COx(g)] = 0.18 mol dm™ 2 0.2 mol dm™

—

C) K, =@k pH =4 - [H'(aq)] = 10™* mol dm"

[CO2(aq)]
_ 107* x 107 mol® dm~*¢

1 0.2 mol dm=3
=x 107" mol dm™
=5x !g—s 1dm™
= = 30 Nm—2
i)[COAe)] = g3rrrmr mpl~* X 300K
=(.012 mol m
=0.012 x 10> mol dm™
[COxaq)] =0.9 x0.012 x 10~ mol dm™
=0.011x 10~ mol dm™
S [H@EQF =Kcx [COz(aq)] B
=5x 108 mol dm™ x 1.1 x 107> mol dm™
=55x10"1 mol? dm™
=55 x 107" mol? dm™®
[H'(aq)] = 7.418 x 107" mol dm™
1g[H (aq)] =0.87-7
- —lg[H'(aq)] =7-0.87=6.17
: _ [H*(aq)] [A~(aq)]
75) a) 1) Ka'— [HA(aq)] [A-_( q)]
a
~(a
—1gK.=-Ig[H'] -lg =5 AT

[A7@9)]
" Pka = pH — 18 720y

N

e—
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